





H#H

%

$!

%




O*+ ,-./01 + (,0* 2,3+4.,5 (*1-.6*1 71 (*,8*+- -1* 91 *)(1*4,.*1 :*+5;+.<= 05
*)(1*4,.*1 > 9+ 3,-(*)?15<.,5 70 41@41= /0. + 4,0%< )4) 051 7,55)1 .-(,*4+541 15
-, 719454 9)3,91 *+5;+.<1 71 3?+54= 4* 021 05 +@B<<1-154 (+*:+.4 7+5< 91<
7.-15<.,5< -71<41< 14 9 +3,0<4./01 .53,-(+*+B91 719+ <+991 +2+*4C 0 )8+*7 +0@
3+(+3.4)< 71 9+ :,<<1 70 4?)D4*1= 3,5;01 15 EF B*(D5 ,*3?1<4*1 7 051 <,.@+54+.51 71
-0<.3.15<=9 ()*+ ,-./01 (*,8*+--1 <,5 (+4*.-,.51 -0<.3+9 ?.<4,*/01 +.5<. /01 71<
,02*+81< B+*,/01<= B,0::1< 14 3,541-(,;*+.5< G 1504 71 H" | FHJ 71 4.4*1< *45;+.< (+*
<+.<,5= 91< 4.4*1< )4*+581*< +((+*415+54 4,0X)0*&8x«4*1 71 9 ,0)*+ 3,-./01 ,0 |
9 1<4?)4./01 B+*,/01C +*-. 10@ :.80*154= | 3K4& B21:< 7 L0O2*1 3*))< <0* 9+ <3651 71
9+ <+991 +2+*4 419< 0 =715,-B*10<1< (+*4.4.,5<,0B9.)1< ,0
-)3,5501< +0A,0*7 ?0. -+.< /0. ,54 -+*/0) 910* )(,/ 01= 3,54*.B0) | 9+ 7.::0<.,5 71 9+
-0<./01 *+5;+.<1 7+5< 91 -,571 14= B.15 <,021549+ (*,<()*.4) 71 9 .5<4.404.,5 /0. 91<
+2+.4 20 5+M4*1C ,BA134.: 1<4 71 3,02** 15+355h< 9 15<1-B91 70 *)(1*4,*1 71
9 (O*+ ,-./01= 71< <(134+391< :*+.5< 70 7)B04 70 1 <6391 +0@ L02*1< 71 9+
-,71*5.4) 70 1 <.6391= 14 71 *19+531* 051 (,9.4./01 71 3*)+458.B)1 | *15,02191* 91
815*1719,()*+ 3,-./01C

1441 +34.2.4) 71 *1-.<1 +0 A,0* 14 71 % 7)(,0<<81 & 7 ,02*+81< <1 :+.4 +213 *.8010*=
7,55+54 9.10 | 71< /01<4.,551-154< 14 71< *13?1*870+5< 91< (+*4.4.,5< 14 -+4)*.19<
3,5<1*2)< 7+5< 91< +*32.21<= +..5 71 (¥)<1541* §B%/01 4.4*1 051 21*<.,5 +04?154./01
/0. 3,**1<(,571 | 9+ 2,9,54) +2)*)1 70 3,-(,<.410*C  )4+B9.<<1-154 71 31441 21*<.,5 :+.4
9 ,BAl4 71 7.<30<<.,5< +*4.<4./01< 154*1 91*6BK 1A 91 4?)D4*1= /0. < +((0.1 +0<<. <O*
91< +2.< 71< <()3.49.<41< 14 9,*</0 .9 N + 910 300)41531< 70 +9+00144, *0 #+51 P
154*1 71 -0<./01 *-+54./01 *+5:+.<1 14 70 154*1 71 0<.J01 +*/01 71 1*<+.991<=
3,09+B,*+4.5< /0. (102154 7)B,03?1* <0* 051 (OB®435 71 9+ (+*4.4.5C + 21*<.5
*141501 1<4 15<0.41 ()<154)1 14 +*80-154)1 7+5< (§B*+--1< 71 <+991 Q

RC

5 4% .< <+.<,5<= 9 ()*+ ,-/O1 (*)<1541= <0* 91<2.584 4.4*1< | 9 +::.3?1=/0.501 5,021991<
(*,7034.,5< 9N*./01<C ?+3051 B)5):.3.1 7 051 3,(7034.,5 (1*-144+54 +0 <(134+391 71
(+*4.* 15 4,0*5)1 15 *+531 141,0 | 9.541*5+4.5€9 1 :,.<,551-154 71 9+ (*,(,<.4.,5
+*4.<4./01= 3,57.4.5 705 2)*4+B91 *15,021+0 AW<@404.5= <+((0.1 7,53 <0* 051
(,9.4./01 71 7.:0<.5 3,5<4*034.21 /0. -B.9.<1 75,-B*10@ (+*415+.*1< +04,0* 70
*)(1*4,*1 71 9 ()*+ ,-J01 4,04 15 3,54*B0+54 + 0 *+N,551-154 71< +34.2.4)< 14 71

9 .7154.4) 70 4?)D4*1C



(*+,-$./01) -/ 12)13451) -) 6$ 217 4859/)
71 .014= 71 1BO<<N

:/01)+ +;2<59/)+ 171)+
2)13451) -) 6% 217 4859/) )3 7 71)<32= -) ## > ?2#@

Q"(1*4,*1 71 9+ ,*1R= 71 +2+*4 14 05.= 71 ?.9.7*=
! 14" # 71 *)4*N="$ 7 )*97= 7 0B1*=

7 -B*,.<1 ?,-+<= 7 :15B+37=% % 71 1*9.,0=

& ' (0 14* + 71 ?+B*.1*=

71 1<<+81*

2)13451) A7149/) -) 6% 217 @ 71 099N= 71 ,0%14=

71 1<4,03?71<= 71 +-1+0

2)13451) ;4<3)8 4175< @ , 71 +<3+9 0<+(.5= - 71 141*

T42T<

127354<+

4887<-)+-) 6% 217 4859)) % # $ . =3*)+4.,5

2.7),71 *+5;,< +96<Q 7)31-B*1 FRU = (.631 -0<.3+91 71 *+53V W*+X30NV

(,0*91@(,<.4.,5 ,50-154+ E ?*.<4.+5 94+5<V .QH :)2*.1* ER U% =
0*B,0:1 71 1,%81< (1*8?.<QE -+. ER

2)13451) 7 71)<32 > 6$4 217,:4859/) @ / 71 ++00,9= - %
71 1*<?X.5= 0 71 *.4415
2)13451) A7149) @L O 2 71 ,54121%7.=
142 -3 71 0*3199
O*+ ,-/01 *8+5.<1 +04,0+ 71 3?+/01 (*7034., 5 ON*/O1 05 :1<4.2+9 71

+5.:1<4+4. 5< +((19)1< 0-10*< 14 71<4.5)1< | *1<401* 9 1::1*21<31531 3%)+4*.31 7 051
)(,/01C 1< :*-091< <,54 -094.(91< G 8*+57< 3,53lK= *)3.4+9< 14 <(134+391< 7,55)< <+991
+2+%4 Q 531*4< 71 +2+*4R= *)3.4+9< (90< 3,5.735 (*,(,<)< 7+5< 91 ,N1*,0 9+ <+991
014 |1 9710*1 70 7)A1051* Q ,0%4< 71 .014R=1<&+4.5< -0<.3+91< 3,5:01< (,0* 91
A1051 (0B9.3 Q+7.5< 71 9 %+ ,-JOlR= (*A138< 3.5)-+4,8*+(?./01<

Q ,5:.71531<RC 1< (*,8%+--1< (1*-144154 | 71< :*- +4.5< 14 | 71< +*4.<41< 71 :+.*1
7.49,801* 71< LO2*1< 3,5501< 14 71< (+*4.4.5< OBO 14 2+9* <154 91< *13?71*3?1<
7 15<1-B91< <()3.49.<)< 7+5< 91 *)(1*4,*1 B+*/0Q 1< *4< 9*<<+54<= 1 6-1
+*.5./01RC 9< 3%)154 70 <15< +0<<. B.15 (,0* 9::410*< 71 3,531*4< 14 91< 3.5)(?.91<=
+-15)< | < .54)*1<<1* | 9+ (*,8*+--+4.,5 ON*/01 70 4?)D4*1= /01 (,0* 91< +-+410*<

7 ,0*+= .52.4)< 1 7)219,((1* 910* 30*.,<.4)C



0B1* Q R= 1+5 ?%*)4.15 +3? Q 4 5 = +9B+<4*1 Q .631<
(,0* 39+213.5R= 1*9.,0 Q = *3?1<4*+4.5< 71< -+*3?1< 71 ),(,97 71 1INI1*R=
?+B*.1* Q = 70,<R= ?1*0B.5. @0 + 5

+9+N*+3 @ R= )9.3.15 +2.7 Q-0<./01 71 3?+B*1R= O0B,.<
Q $ $ 67 + R= 0(?9N Q .631< (,0* 39+213.5R= $8*) Q%

$ + . 8 R= +0*)! 1<<+81* Q % - R= ,<<13
QO R= )*97 ® 69 -$ 67 R= 13,3/ Q(% 05 1V10
6) R= ,57,52.991 Q .631< (,0* 39+213.5R= ::15B+3? Q R=
09153Q $ $ 5 +B+07 Q R= +219Q

$ $ 5 ,0<<19 (B R= ,N1* Q .631< (,0* 39+213.5R= -B*,.<1 ?,-+<
0- R= +*6<1Y

#$ ! @+4*.3V 0*8+5= *+53V +*4.5

% &' @7*+71= 1+5 ?%)4.15 +3?= +3?1914= 1+0(9+5= #+581*

Q3?+5<,5<R= 1*4,5= .014= ,.197.10= +*+076B2A*%= 1B0<<N= ,3?1= +0*)= ,<<13=
,05,7= +?5= +9)2N= Z1= +B+**1= 13,3/= 15, *=+<<)= 1<<+81*= ::15B+37?7=
+5<1* 5= +*571+0= .9+4.= ,09153= 1N1*= +5b<= 1**+<<l= -B*,.<1 ?,-+<=
7,4

#$ @

1,*¥81< (1*8?.<= +<3+49 0<+(.5

¢ ) & ( @

?.1*N +53.5, & = R= *3?1<4*1 +4.5+9 71 +00= 15M4 19B13/ 14
1*5+*7, +57,2+9 Q3*)+4.,5 -0<.3+91 +33,-(+85+54 71 139 C 1.991R

I @+9+V.*12= 1*5<41.5= *4415= ,(9+57= 98+*=
99.584,5= 1*<?X.5= 9.5V+= 21<= (@QUB= 4*+N?,*5= ?+9B1*8= .((144=\+851*=
#+B19

#$ ! *4415= 98+*= X199<= +4?43&+-<

% &' @1147,215= *.4415= 37<+= +97+*+= -+*+= 5.0M4.=
S+<41*%+= F+- = 71:* N= +N75= 0--19= +*4.5. = +*9+5= 9IN19= 1<(.8?.=
,<<.5.= +33?7.5.= 4*,00.= *57199.= ,<345&=#+57,5+.

+' @1,*81 *0-B= N,*8N .814.= +5<#1571*



Q7+5< 9 *7*1 7 +((+*.4.,5 7+5< 91< <+.<,5< (J119 ,-./01R

( 7>>?2@7>>A

4)(?+5.1 7] 0<4*+3= 1+5 03 .+9+= 551 +4?1*51 .9914= 145 ?.9.((1 +:54=
?7*<4,(?1 +N= 9+57.51 4+<V.1X.30= *+5;,.< .,8,= .3,91 ,51<4.1*= +4+9.1 1<<+N
Q*)3.4+541R= +*3 +0.99,5= 9.2.+ *+N= 155.:45.= 53154 *7,551+0= ,5+5
)7)913= 57*) *<3?= 9+.*1 1:9.D4*1= <+B199014= +-.991 ,09= *5+07 +*O,*+4.=
1+5 *+5;,.< -B+*7= +09 15*N .9+= )9,7.1 02 .= +4?7.10 ,54+851= +*.5
+<<,0= +*3 57*) *5,2,<4= +4*3.+ 14.B,5= ), 5+*7 100.5,= .53154 *7,551+0=
?454+9 1**+07= .*8.91 *+55+.<= +4?7+9.1 +071N= .*1.991 1905<3?= 1+5 )B+<4.15
,0= W+*15 ,0*3]?= -+N+ ,-58010= +*9.51 7?+<< +5N= +9)*1 .= 1+5 +09
,5512+991= +09 91@+57*1 0B,.<= ?9,) +.9914,5C

( 7>>A@7>>B

)9.51 .33.= 9+.*1 1B,5= N*9 02.4N= +[9 06144.= 53154 +21<.= ?,-+< ,9.)=
?,-+< <= 1**1 1+55,4= 1+5 21< +2,0@= 5 8*7 1**0371= 19(?.51 +.7+5=
,(?.1 ,57A.39.<= 1*81 ,0B.,07= 07.4? 1*0.5= +[991 +V15+ W,7,3V= ),5*1
?+(.5= 9)-1531 +Bl*= <1(? 1991-B.15= <3+* + A,0<= 0.99+0-1 57*.10@= 2815N
91@.12= )*+*7 ?)*019= 55+ +*.+ +50+*199+= #8. )81*= *+53V 180)*.519= ,(?.1
+*5 18,*= .3,91 ,51<4.1*= .3,9+< +2+99.1*= *8.5.1 ,3?,5= *+53.< 07/0.+VC

( 7>>B@7>C>

(?.1 W,3?7= 145 +*1 *)-1+0= 145 *+5;,.< +(, 541= ?.9.(11 +9B,4= 1+5
1.4815= +*+? ,0:*N= )*K-1 +*5.1*= *3 +*4. 5 5514= 9)-154.51 +*8+.51=
+9,-) +991*= --+501991 71 18*= 9,7.1 )3?+.5= 7X.5 *<<91N 1*31*= .3?719
*1-(,54= 0801< *.-+*7= 15M4 *5,097= +(?5) , 03?+.<= +*N9.51 +99,4= .53154
.99.1*= 53154 ,03?,4= *,4?)1 139+.*= +2.7 ?.9+*7.= 9),5*1 1-+*1= 9.31 9+.1=
1+5 *+45;,.< ,2199.= +*1 15*+57= *)7)*.3 , 53+921<= 4)(?+5.1 ,0.99N= .53154
,0.5= .,519 1.54*1= 5+4.1551 .3719 +5<+3= +*3 +**+*7= +47+9.1 4040-+55= 03
1*4.5 08+094

( 7>>?@7>>A

+*3 +99+?+5= +-.991 1*3V@= +*70V 1**+5, ,(10= 1.5,07 +5 13?1915= 5*./01
9B1*4, +*4.510 .21*= +5.19 +B15+= *5 0-.4 *+<30= .3?+*7 * @199= 1*5+*7
3?41*= *< +-(*13?4= +5< T*8 +--19= W125 ?*4= 57*+ +?+A+5= +5.19
\+<?.584,5= 5819+ .-(<,5= +/0.4+ .43?199= 5.4 N-+5= *3 *1151= 1*+.51
-47?7= ?+0531IN +3V1*= +92.5 11= +**5 91-+5= O11 *X5= *C= 0<4.5 11 .991*=
91-154 <?-+19= ,N31 . 5+4,=W.- *.<X199C

( 7>>A@7>>B

+915+ *5-+5= 7?*.<4,(?1* +94-+5= 07.4? 2+5 \+5* A= .9+*N O0--1*<= 5+
+*V1BN= 5+ 0.4+5<= 15 +2.1<= +47+5 +91= A, 1*5+571<= +09 851X= .<+57*,
B+7.1= ,9.5 11= W15514? +*21*= 0-. ,= 54,5, .801*+= +*3 9,-4= +*N
9+O+<= 141* *7.58= 9<1 1*15<= +9,-) W+--1*99+5 9+N4,5= +53N 0<4+:<,5=
19.3.4N +9-1*= .9.<? N5+5= ?*.<4,(?1* 0*21<%,5 <(1*= 57*1X *115+5= 1.8?
19*<1= 09.+ .91N= +55+ 3?7+1*= 571*< C +88. .51 0578++*7= +*< *2.7<,5=
+V,B T8<4*T-= 441 571*<,5= +*+ *+O.+ 3?.+2,= +*+ *3,9+45= +9154.5+




+** 491= 0<1((1 71 .44,%.,= *7,5 .140= +B.9 09.-+5= 55+ +41*5+ 54 5+33.=
57*1X .3?+*7<= 55.1 .99= ,0.<1 551<= +44?1%, V= .33+*7, 2+*= -+< 71
1%*4+41C

( 7>>B@7>C>

<1(? W+.<1*= 55+ 4)(?+5N= +9.+ 157. 1*+7= , 0.<1 +99.5+5= +-1 19.3.4N ,44=
03N *X1= 55+ 12.5= *+- 99+5= 7 N,5= ,B1 *4 0*4= 1+5 9+N4,5= 57*1X
+2.<= +2.7 \1BB= 57*1X ,<41* \.99.+-<= 1<-57 +**44= B1*4 0*4= \,9:8+58
90-+*= ?*<451 31= +5 245 9<+3V1*= *)7B. 54,05= *+7 , (1*= 1:*IN
2,-(<,5= <-+19 *7.= 0%9.1 *+53V= 4)(?+5 + 5 N3V= ?2.99.( 77.<= +*V0< ,99,(=
~+ +X+B= 1*5+*7+ 5V

( 7>>?2@7>>A

)3.91 1<4.1*= 551 1 ,013= .7.A+ 14 +5A+ O 41215 <<1*9.<= N92.+ B*+-,X.30=
,5+4?+5 05:*7= *177N .3?19B1*81*= 21< 137<481*= *+ 9,71+50= +-1< 05*=
N)7)*.3V ++<= 03+< 0.-+*+1<= 1*4*+57 0.991*=*)8*N ,09.5= +*+ ,B*1<3,=
971*4 11:4.5V=\.9?71- +43?,0-.+= 1*153 .0.= +?45 +*7.*<<+5= +*+? 1-4+50=
N,7,? W+51V,= 1*4*+57 1*21*+= +*3 9.2.1* 71 +441<= ?1,7,* ,-+5= +(?+[9
1**+07= 91@+57*1 .*7+5= +?45 +*7.* << +5= .2+*7 0B19<V.= 91@+57*+ *1..5=
)7*.3 ,53?,5= 9,*154.5, +92,= +*5+ 4?7= .- 5 #+,0.= +2.7 .9= .-+
+*V13?.V= +4+37+ WO7*N4<V+N+= 9.51 .B.8@k=< +470*.+0= 15A+-5 ,0<<+N=
+09 +N= +2.7 #,B19=\+N51 +*<?+99= A+5 * \I= 1+5 21< ?.B+0714C

( 7>>A@7>>B

551 +*1 +<9+= 09.0+B14? WI155N= 7?*<4,(?1 ,BE* 1*5+71441 7?+*B,55.1*=
+-+54?+ 548,-1*N= ,5+4?+5 O0B.5= 4<0<?. +V+.= 15M4 +*4,5= +5.19 < *=
+4?+9.1 41.5B1*8= .3?+19 0.7,= 4)(?+5.1 +09H +09 1N1*= .3?19 ,*4+9= )3.91
1<4.1*= +2.7 .<-04?= +1\5 11= \15A.+, \+58=  .14.58 0= 0.99+0-1 .53154=
+4+3?+ WO7*.4<V+N+= 7+- +9,0-= 9+07.51 .-,5= 1+5 08.4+5.= 54,5., ,N+= 145
*+5;,.< 1.<<1*C

( 7>>B@7>C>

+B.51 ,04+.5= .3,9+< W*081*= <+B1991 *144HL+51 +-.5= *51 0*,0<= +V,2,<
+((+<= ?*.<4,(?1 ,5= +51<<+\+851*= *+5;,.<1  .2499+57= 5.+ \.171* 4?1*4 5=
+2.1* 71 +.<4*1

$

( 7>>?2@7>>A

* 75 9.4 +*7.51*= +55.3V )014 )80.5= 15A+-5 )2N= .53154 0-1<4*1= 1*2)
J014= \.99.+- ?*<4.1= 5+4?+5 ,?15= 1+5 03 .58+07= )*)-.1 ?*1*= 9+5
94.5,890= *+5;,.< +2.1* 4?7=\+N51 +*<?+99C

( 7>>A@7>>B

+09 851X= 141* T42T<= 91A, 1*10= +0*1531 .GBIN= 1,:*N ,0*7+.5= +2.7
*-+9= ?*<4,(?1 ,0<<14= 54,5., 9,*.,,=\.99.+- +31NC

( 7>>B@7>C>

* 95 +2<= ,0.< +58%)1= [9 070B.1441= - -+5019 W*.2.51= 08, 1N51= 1+5
1*,N1*= +B.15 +B19




@

+<5 I F

?1 ,54121*7. ?,*= *3?1<4*1 )2,904.55+.*1 14 ,-+54./01= 5<1-B91 8,*+=
*3?1<4*1 +4.5+49 71 *+531= *3?1<4*1 71 3?+-B*1199)+<= ?LO0* 14 *3?1<4*1 70
,6-1 +*-5/01= *3?1<4*1 719 3+7)-.1B+*/011 0*,()1551 7 -B*,5+N= 1< *4<
9,*.<<+b4<= *3?71<4*1 <4.5+4 = 0+40,* *+*7= 11*391 71 9 +*-5.1= 331540<=
*3?1<4*1 71 +*<= 1< .6391<= ?1 49454+ (1*+?*0<= 1X \*97 N-(?,5N=
-1*.3+5 < *3?1<4*+9 3+71-N= 0+40,* <.<= 0+40,* . 4.-+= ,9.<41< 71 9 *3?71<4*1
+4.,5+9 71 *+531
( 7>>A@7>>B

5<1-B91 *9+57, .BB,5<= *3?1<4*1 719 ()*+ 5+4. ,5+9 71 N,5= 0+40,* +B+51*+=
*3?1<4*1 719 ()*+ 71 ,015 +041 *-+57.1= +M4 *<171< +04<71 1.51= 1 A1051
3?,10* 71 +*<= 5<1-B91 1< .<<,5+531<= 7?L0O* 147+5<10*< 70 ?)D4*1 *N+9 71
*445.58?,9-= 1< +915< N*./01<= 0+40,* *+aV=+ +((199+ 71 0*3?.5.= *3?71<4*1
+4.5+9 71 +OO0
( 7>>B@7>C>
37,10 71 3?+-B*1 91< )9)-154<= *, \+571*1*= + ?+-B*1 7?.9+*5/01= +
~(?,5.170 +*+.<= 5<1-B91 % 05+.<.15< &= *3?%¥4*1 ?.9+* 5./01 71 +7., *+531=
,9.<41< 71 9 5<1-B91 +*/01 71 .-,81<= 0+40,* ,<+b/01l<= 5<1-B91 71< 150<
9+.<.*< 70 ,N=W9+58:,*0-\.15= 5<1-B91

B @

( 7>>?@7>>A

+3?+ +V1bl:= )*K-1 1<3?+-(<= .1**1 --+5019 ,0<<1+0= 15A+-5 +0O+*=
3,9+< .+9= +3/01< <.5<V.= 07,2.3 +8+*71= 5%)\.9-<= ,.BN5 *9.5C

( 7>>A@7>>B

1B *+? \+*51*= 53154 .44,0= <?., -+8+4<0= ,0 .<1 ,+4N= .3?+*7 *0519= .1**1
07.= +0*154 199N= 7*.+5 ,B91C

( 7>>B@7>C>

15.< ,749N76<= ,5+4?+5 W154= +5 1--144= 91@+*% ZB51*= 1+5 ,0.< 15,.4=

1+5 03 -(1= 4)(?+51 *+05<3?7X1.8=




%
?)D4*1 71 +15Q " - % 2 -3 R= 154*1

71 0<./01 +*/0171 1*<+.991<Q 8 ! R= ()*+ 71
,015 +041 *-+57.1Q 0 R= ()*+ +4.,5+971 N,5
Q- ' R= ,57+4..,5 ,N+0-,54 D" #5 =7?)D4*171

M-1< Q& R= ,50-154+ E +0 *+57 +9+.<

*+57 ?)D4*1 719+ 99171 0@1-B,0*8 Q- % % % R=
+9+00144, *0 #+51 #+51 P 154*1 71 -0<./01 *,-+5401 *+5;+.<1 Q %

% 5 1<4.2+9 541*5+43.,5+9 71 0<.3+ N +50+ 71 *+5+4Q -
% R= 1 171*9+57<1 (1*+ -<41*7+- Q" = R= ()*+
,N+9 71 \+99,5.1 .681 Q R= ,--05+04) :*+5;+.<1 71 198./01 Q

R= O9N571B,0*51 (1*+ 1<4.2+2Q -3 = *,VONS5 3+71-N, 0<.3

IX *vQ2 -3 R=W9+58:,*0- \.15 Q% R

% %

*+57 ?)D4*1 71 *,21531 .@ 15 *,21531= ?)D4*1 71 +15= ()*+ +4.,5+9 71 N,5=
?)D4*1 71 M-1<= ,50-154+ E +0 *+57 +9+< + *<= ()*+ 71 ,015 +041
F-+57.1  57+4.5 ,N+0-,54= ()*+ *N+9 70 ?D41+0 71 1* <+.991<

% !

1 171*9+57<1 (1*+ -<41*7+-= ()*+ ,N+9 71 \+99 ,5.1 .681= *+57 ?)D4*1 71
9+ 991 71 0@1-B,0*8= *,VON5 3+71-N ,; 0<.3 1X ,*V= 9N571B,0*51 (1*+
1<4.249= 1<4.2+9 541*5+3.,54+9 71 0<.3+ N +BD+#+5+7+= +9+00144, *0 #+51
15.<1= 1+4*, + 15.31 15.<1= 30,9+ +5 ,33, 15.<BW9+58:,*0-\.15

14C17887354< 7135+359/)
D;/8/6 +75+4<+ # , 2, C -

-B*171G
5,021991< (*,7034.,5<
(*,7034.,5< ON*./01<

J 7 L02*1< *+5;+.<1< H&E
*0-10*< #
9121*< 71 *.71+0@ ?
+*4.<41< 158+8)< Q?,*< :,*-+4.,5<R #
5 *-+4.,5<+3301.99.1< &

3,(*,7034.,5< +213 .5<4.404.,5< *+5;+.<1<
3,(*,7034.,5< +213 .5<4.404.,5< )4*+586*1<
*1(*)<154+4.,5< ?,*< 91< -0*< &




5 *8+5.<+54 37+/01 <+.<5 154*1 710@ 14 4*.<98A< .541*7.<3.(9.5+*1< 14
541*5+4. 5+0@= 14 15 91< .54)8*+54 | <+ (*,8*+;5549 ()*+ ,-./01 2104 <4.-091* 9+
*13?21*371 <3.154.../01 (;*4+54 <0* <,5 ?.<4,*15 @4*.-,51 14 <5 *)(1*4,*1= 71<
7,-+.51< -,.5< 4*+2+.99)< /01 51 91 <,54 310@ 70*3C .5<.= +0305 3?71*3?10* 51 < 1<4
153,*1 +4419) +213 71< ,04.9< -, 71*51< | 9 ?.<4£715.<4*+4.21 71 9 .5<4.404.,5 U 91< 9.<41<
71 <1< 3?1:< 7 *3?1<4*1 14 70 (1¥<,5519 71 <+@*0<4154 | 3,5<4.401* U <5 *)(1*4,.*1

<, F H(*6< <,* 71-10%1 ~(,<<.B91 | +((*)?1571*= 143C 5 +**.2+54 | 9+ 4c4l 71

9 .5<4.404.,5= *K-1 1<3?+-(< 14 <,5 )/0.(1 5,54(0 /01 3,5<4+41* 9 )4+4 9+305+.*1 14
<0*4,04 5,5 3+4+9,80) 71< +*32.21< +*4.<4./01<?JD441 *)809.6%1-154 7)(,<)1< | 9+
.B9.,476/01 5+4.5+91 71 *+531C 5 7*1<<1* 9HPA*1= +((*)?1571* 7 +04*1 (+*4

9 15<1-B91 71< +*3?.21< +7-.5.<4*+4.21< *19+4@B5<4.404.,5 3,5<1*2)1< | 9+ 5 ,0
+.9910%*< Q *3?.21< 5+4.,5+91<= .B9.4?76/01/0kZ}.9+ .991 71 +*.<= 143CR= 4,041< 31<
7)-+*3?1< 3*03.4+91< 51 (,0%* 54 c4*1 -15)1< /01 (+* 71< <()3.49.<41< :,*-)< 7+5< 91<
05.21*<.4)< 14 91< 8*+571< )3,91<= /01 9 ()*+ (01 154157 *+<<1-B91* 14 - B.9.<1*

9,*< 71 <1< 3,99,/01<C

,0* 91< 371*3?210*< 4*+2+.99+54 7)Al <0* 9 ()*+./01 P 15 8)5)*+9 05./01-154 <0* <,5
*)(1*4,.*1= 71(0.< 91< 7)3155.1< | 9+ ,.*1 AO</0 F)B04 70 ' <.6391 P=.9 1<4 2+9,* <+54
14 <4.-09+54 /01 9 .5<4.404.5 1991 -c-1 91< .52#411 )4+4 71 910*< 4*+2+0@ 14 |
3,5:*541* 910*< +5+9N<1< P /0. (102154 7,551* O7102)*.4+B91< 7)B+4<C .5<4.404.5
1<4 )8+91-154 +-15)1 | 91< 3,5<0941* 9,*< 70 3?7@61 21*<.,.5 71 *):)*1531 705
,02%+81 70 *)(1*4,.*1 ,0 (,0* .541*215.* 7+5< 91<X(8*+--1< 71 <+991C

1< -+5.:1<4+4.5< <54 3,501< 15 9.15 7.*134 +283 (*,8*+-+4.5 14 <54 (+*
3,5<)/0154 -,.5< .54.-.7+541< /01 <. 1991< <1 7)*%-.154 7+5< 91 3+7*1 05.21*<.4+.*1C ,.5
71 9+ <.-(9..3+4.,5 ;> 21*<1 4,04 (*,(,< ()7+8,8./ 01= 3?2+/01 <()3.+9.<41 50+531= +::.51
14 7)4+.991 <+ 2.<.,5 7 051 7,55)1 +0<<. 3,-(91@1 3*03.+91 (,0* 9+ 3,-(*)?15<.,5 71

5,4*1 <,3.)4) ,33.7154+91 - 71*51C ?)5,-651 <,3.,9,8./01 0*B+.5= )3,5-.1 71 9+
30940*1= -.*,* 14 15A10 70 (,9.4./01= (*,70.4 £AQ*1-154 *+::.5) 71 9+ 3,521*81531 71<
+*4<= 9+B*+4,*1 71 :*1< 14 71 9+58+81<= 9Q)B+./01R 1<4 B.15 (90< /0 05 <.-(91
7.21%4.<<1-154 05 (10 7)<014 14 3,d410@C 5 7Y29@1<4,.*1 14 15 1@(9.3.41* 91< * 0+81<=
3 1<4 (1*-144*1 +0@ <(134+410*< 71 51 (90< c&1(P1< 3,5<,-+410%< 71 B.15< 14 71
(*+4./01< 30940%1991<= -+.< 71 71215.* 71< +B8O3<154< 71 9+ 2.1 30940*1991C 1<4 (+*
1@1-(91 -.<1* | -,N15 41*-1 <0* 051 (90< 8*+571 30.4) 70 (0B9.3 (,0* 71< ,02*+81<
.53,550<= 051 -1.9910*1 +((*)3.+4.,5 71< L02*1< 5#.<1< +0 <1.5 70 *)(1*4,.*1= 051
<15<.B.9.4) (90< +.80.<)1 +0@ 3?,.@ .541*(\M43C:<=

1< ,99,/01< 719 ()*+ ,-/01 <54 *8+5.<)< 15  (+*415+*+4 +213 91 +9+00144, *0
#+51 P 154*1 71 -0<./01 *-+54./01 *+5:+.<1= 14 & 7)*,09154 7+5< 9+ <+991 .014=7 051
3+(+3.4) 71 3154 (9+31<= +213 051 :*)/0154+4.528*1 71 H | (1*<,551< 71(0.< 91
(*1-.1* 3,99,/01C

EE



5 F= 91< 710@ 3,99,/01< )4+.154 71<4.5)< | 31 91< 7)B04< 71< 710@ 815*1<
% 3,530%*154< & G 9 ,()*+= .52154) (+* 099N (D% Q91 41*1 7.52154.5 + )4)
9+*81-154 7.<304) 14 7)219,() (157+54 91 3,99,/01R 9 ,)*+3,-/01= +((+*0
(*,8%1<<.21-154 7+5< 91 3,541@41 0*B+.5 14 (,(A9FIK :, *1< (+*.<.1551< Q,5 +)2,/0)

91< D81< <0331<<.:< 70 815*1 +0 .6391 71< OREZ1<

/$ ,0&$ &' 1 G
C 14415<= C *+4X.3V.= C 0*<,*= C 0.99=71 + ,*31= C +071.@= C 1<4,9+= C
*-+5= 9C .3+04=WC .13?,3V.= C +<3?= C13?5*= C 9C +5;,5 QE" .541*215+54<R
26-1< +B,*7)< G .5:901531< 3,5A,.541< 70 B+99BI0F114 71 9 +.* 71 3,0* <0* 9 ,()*+
5+.<<+54= ()<.1 14 ()4./01 71< ,()*+< 71 099N&N:551-154 71 <1< LO2*1< 8*D31 |
9)7.4.,5 -0<.3+91= 9+ 7.::0<.,5 15 0*,(1 14 91 7.1< <(.*.401991<= : *4051 71 099N +0@
114 1<.6391< 14 (*,B9)-+4./01< (90< 3,541-(,;*+.51< G.¥1* 14 -144*1 15 <3651
099N +0A,0%7 20.C

2 0 & " 1 G
C 91 9+53= C 1<<+3= C ?+,03?1= C ?+*94(G=B.+5,= C *+50= C C -(1= C +*4.5=
C .00,5.= *C 0B199.5= C +.1B QEE .541R215+54<

26-1< +B,*7)< G (9,58)1 7+5< 91 (*1-.1* *)(1*4,*1 71 9 ()*+ ,-/O1 19+ ,.*1 70

7,0B91 (,.54 71 201 9.44)*+*1 14 -0<.3+9= 4*+B4:5< 70 815*1 71 9+ (+*7.1 15
2+0712.991< | 9+ 3,7)7.1 -c9)1 7 +*.1441< (0.< 71931 3. | 9 ,()*+ 3,-./01= <O(*)-+4.1

71 9,0*+ 3,-/01 <0* 9+ 3,-)7.1 ON*/01 71 +-1+0 = 3,530*1531 14 7):134.5 71<
)7.15< 4+9.15< :+31 +0 <0336< 719 ()*+ /0 1<,0<91*685171 0.< C

5 =91<710@ 3,99,/01< (*)<154+.154 91< -)4+*(?,<1< 7 05 4?26-1 14 7 05 1<(*.4= 9+
)1*.1= 7+5< 9 ,()*+ 14 9 ,()*+ 3,-./01 *+5:+.< 71< 114 1<.6391<= 70 -1*21.9910@
(*)%)2,904.,55+.*1 +0 :+54+<4./01 *-+54./01C

I'$ , 0 &' G

C +*+= C ?*C *+581*= C ?+.99,0= *C 9+07,6=,57)= C *+4X.3V.= 9C )4*1+0= C
+3,-B1= 4C 19.62*1= C .33,9+.= C 3?51.71*€ )*)= C 1.B19= C 9C 5 QF
.541*215+54<R

?6-1< +B,*7)< G 91< 9.2*14<= 91< 1-(9,.< 2,3+B6@4*M154+4.,5= 9 .3,5,8*+(?.1 -0<.3+91
14 <1< *+((,*4< +213 9+ (1.540*1= 91< <,0*31<+HFA%k= 91< -04+4.,5< 70 :+54+<4./01
ON*./01 71 9 -(*1 1 9+ *,.<.6-1 )(0B9./01=91- (9,. 70 41*-1 % :+54+<4./01 & 7+5< 9+
3*.4./01 -0<.3+91 14 <,0< 9+ (90-1 71< 3,-(,<.410&<

2 ,0 8 & " " G

C 91 9+53= C W.54091*= C 13,-41= C 18G5¥6871.@= C C +*4.5= C 54.+0@= C
4= C .00,5.= *C 0B199.5= C +.1B QEHSEHEXR

?6-1< +B,*7)< G 91 -1*21.9910@ | 9+ ,.*1= 7+5< &M5*1< 9N*./01< 70 ' <.6391= 91<
-,7691< .4+9.15<=9 *3?71<4*+4.,5= 91 7)3,* 24B*4?.1 70 -1*21.9910@

5 E= 9+ (*)<1531 3,5A,.541 7+5< O+ (*,8*+--+4.,5 7 134,* 1*9.0 14 7 -B* <1

2,-+< (1*14 7 ,((<1* 91< 710@ 5,4.5< 71 -71*5. 4) 14 7+3+7)-<1= <.
<4*0340*+541< (,0* 54*1 3,-(*)?15<.,5 70 ! <.6391= 9.7)1 )4+54 71 50+531* 910*
+:% 541-154 15 - 54*+54 91 * -+54.<-1 | 9 L02*1 7+5< 9 +3+7)-.<-1 14 9+ (90*+9.4) 71<
(,<40*1< 5,2+4*31< +04,0* 71 1*9.,0C



3'$ , 0 1 4 5 G

C C +*4,9.= *C 1*5+*7= C 0:1419= C *+54KIN= C *+*7= C +.51= C 71 W1N<1*=
C +<41*= 9C +08*1441= C +-+04= C 1.B1@-,04 QE .541*215+54<R

?6-1< +B,*7)< G ,[9N= )?09= .<O4= .34,* 08,=7,9(?1 +@= )9.3.15 +2.7= +.54
+[5<= 19.B1<= 1*9.,0 14 9+ 4*+7.4.,5= - 71*B#M|*1<<1 -0<.3+91C

%$ , 0& 3 676 G

C +9-*= C +*= C +-(,<= C ?.-651<= C *+ 4X.3V.= 9C )4*1+0= C .*,07=

C +0<:+41*= CW+?+51= C )*.)= C ,04?,5= @&C ,5 QE .541*215+54<R

?6-1< +B,*7)< G 91 ,5<1*2+4,.*1= 9 5<4.404 14<®R0*< ,::.3.19= 91 *)(1*4,.*1 *19.8.10@=
91 B+9914 .-(,<)= +B1513V= +93,5= -B*,.<1 ?,-+< 91< 3,52154.,5< <,3.+91< +0 4?7)D4*1
9N*./01= 9+ *?)4,*./01 70 A10= 91 4+B91+0 <39%./00E5.4) 3+*.3+40*)1C

%$ , 3% )8 G

C +B.+5,= 9C ,081*9= C 18*+57= 9C 19145¢54= C *)= C 0)*,= C .00,5.= C
+5A0+5= C +.1B QE .541*215+54<R

?6-1< +B,*7)< G 2,3+4.,5 71 9+ 3+**.6*1 14 71 02*1 71 +2+*4= /0. + 3,54*.B0) +0@
-)4+-%(?,<1< 1419 155,B9.<<1-154 70 815*1= 14 B5) <,55,- +0 4?)D4*1 76< EF" U
+2+*4 9.B*144.<41= 7*+-+40*81= <,5 4*+2+.9 K9 (J./01= <1< *19+4.,5< +213 91<
+04*1< 9.B*144.<41<= 9+ ,-)7.1 4+49.1551 14 9j7.1- *+5;+.<1= ,94+*1= 9+34.2.4)
9.44)*+*1 71 <,541-(<=905.21*< 71 9+ (+<41%912,904.,5 -0<.3+91 70 815*1C

51 <13,571 A,0*5)1 71 3,99,/01 3154*)1 <0* 91< +34)< 71 +2+*4 | *0@1991< <1
7)*,091 +0 154*1\+99,5.1 *0@1991<| +*.<C

5<4.404.,5< .-(9./0)1< 7+5< 91< 3,99,/01< 14 OB9(3+4.,5< 71 910*< +341<C

5<+353/354<+ > 715+ @

.B9.,4?6/01 5+4.5+91 71 *+531= 154*1 71 0<./01 +*/01 71 1*<+.991<= 154*1
+4.5+9 71 9+ +5<1= = 5<1*2+4,*1 5+4.5+9 <0()*.10* 71 -0<./01 14 71 7+5<1 71
+*<= b<1*2+4,*1 *)8.5+9 71 +*<= 3,91 71 73<1 71 9] ()*+ 71 +*<= 3,91 70
,02*1= 3,91 *+4./01 71< +041< 4071<= 5<4.464.5+9 7 <4,*1 719 *4= 5<4.404 71
*13?1*3?1 <0* 91 (+4*.-,.51 -0<.3+9 :*+5;+.<= 5214) 71 +*.< <4 *)41.9= 5.21*<.4) 71
+*<  *B,551= 5.21*<.4) 71 +*< 01<4 +541* *1= 5.21*<.4) 71 1*<+.991< +.54
0154.5 15 219.51<

5<+353/354<+ -) 1405<)) @

154*1 +4.5+9 70 ,<40-1 71 3651= 5.21*<4) +4 ?,9./01 71 9 01<4 581*<=
5.21*<.4) 7]*4,<= 5.21*<.4) 71 991 = 524) 71 +541<= 521*<4) 71 1.-<
?+-(+851 *71551= 5.21*<.4) 71 ,015= 5.21*<.4) 1+5 5514 71 +.54 4.1551=
5.21*<.4) N,5 = 5.21*<.4) 71 1551<

5<+353/354<+ > 6$2317<C)1 @

7.4.5< 1,8 9-< P 991-+851= @:,*7 *,V1< 5. 21*<4N P ,N+0-1 5.= +9+00144,
*0 #+51 P 154*1 71 -0<./01 *,-+54./01 *+5;+.<1 P 4+49.1= 5.21*<.4) 7 4*13?4 P +N<
+<= 5.21*<4) 71 +58,* P ,N+0-1 5.= 5.21*<.4) 71 +*9.51 70 07 P 4+4< 5.<=
5.21*<.4) 71 +b:+ P <*+[9= 5.21*<.4) 71 9+ +P1991-+851= 5.21*<.4) 71 57*1< P
,N+0-1 5.= 5.21*<4) 71 1X *V P 4+4< 5.<= 5.21*<.4) .B*1 71 *0@1991< P
198./01= 154*1\+99,5.1 *0@1991<| +*.<C



9 ' )0 G (,0* 91< 3,99,/01< ,*8+5.<)< 15 (+*415+*.+4 +213+9+00144,
*0 #+51 P 154*1 71 -0<./01 *,-+54./01 :*+5;+.<1

I-5354<+ 71-7C7F )6C59/) G (,0* 91< (*,8*+--1< 71< <(134+391< 15 3,(*,7034. +213
91

1< 710@ 3,99,/01< <,54 (15<)< 71 :+:,5 | 7,551* Q0 | 051 (0B9.3+4.,5 3,--051 (+*
+5C

: -+ / +341<71< 3,99,/01< F= N,5=
N-)4*.1=| (+*+M4*1 7)B04 E
N+ o=+ +341<71<3,99,/01< =
N,5= N-)4*.1=1 (+*+M4*1 7)B04 EE
-+ + / +341< 71< 3,99,/01<

E= N,5= N-)4*.1= | (+*+M4*1 7)B04 E



+:4-.9.+* <+4.5 70 (0B9.3 91 (90< 9+*81 +218 9N*./01 1<4 051 -.<<.,5 71 <1*2.31 (0B9.3
| 9+/01991 9 ()*+ ,-/01 41541 71 *)(,57*1 71 -09 4.(91< -+5.6%1<= +213 31441
3,52.34.,5 /01 91 (9+.<.* 70 <(134+391 51 (104 40k +33*0 <.9 < +33,-(+851 7 051
2)*.4+B91 3,-(*)?15<.,5 71 9 L02*1C

O0*+ ,-./01 <+.<44,041<91< ,33+<.,5<(,0*,0 2**9+*81-154 <1< (,*41< 14 *8+5.<1*
+419.1*<= *153,54*1< 14 3,5:)*1531< .990<4*)Hy</L=4*1 3,55+M4*]1 <1< (*+4./01<= <1<
-)4.1*< 14 <5 ?.<4,*1C *< 71< ,0*5)1< 70 (+4%.51 ,0 71 9+ -+5.:1<4+4.5
10*,()1551 ,0< | 9,0)*+ $= 91 (0B9.3 7)3,02*1 7+ 91 4?)D4*1 31 /0 1<4 91 3?+54 15
2+0712.991= 2.<.41 9 051 71< (90< B1991< «%981<.314.1 +0 *)(1*4,.*1 3?,%)8*+(?./01
71 9.5<4.404.5 14 +0@ )39+.*+81< <3)5./01<21H{Y) (+* 9 .-+81 14 91 <,5 31 /0.
7.<4.5801 9 ()*+ ,-./01 71 9+ <+991 +2+*4=9 (f+ ,-./01 71 9 ,()*+ 3,-./01 -+.<
+0<<.9 ()*+ ,-./01Y 719 ()*+C

(O*+ ,-.J01 7)219,((1 051 3,99134.,5 71 (*,8*+- -1< )9)8+54< 14 21570< | 05 (*.@
-,7.J01 /0. (1*-144154 +0@ +-+410*< 71 *154*1* 32100@ +213 91 9.2¥14 71 9 LO2*1= 91<
B.,8*+(?.1< 71< +*4.<41< 14 71 5-B*10@ 41@41%54145 90-.6*1 91 3,541@41 71 <+
3%)+4.5C 1< (*,8%+--1< ;54 9+*81-154 (9+31 | 9 +5+9N<1 71< <()3.+9.<41<A 85154
)8+91-154 91< 3,--05+04)< 71 9+58+81<= 71 4?26-1<*70,5< 7 +441541< 154*1 9 ,02*+81
ON*./01 (+*:,.< -)3,550 14 9+ 9.44)*+40*1 3,541-(#.51 G (,)<.1= *)3.4= 4?)D4*1= 3*.4./01
-0<.3+91= )3*.4< 71< (*,4+8,5.<41< 71 O+ 3*)+4:5=71 -,54*1* /01 9 ,()*+ 3,-./01=

745< <+ 1 %1 - @41= 4.154 +04+54 71 9+ 9.44)/0U4F119+ -0<./01C

& GES 1@1-(9+*1<)7.4)<'E 1@1-(9+.*1< ZNE
GE 1@1-(9+*1<)7.4)<!EE" 1@1-(9+.*1<21%
"$ G 1@1-(9+*1<)74)<!E 21570<
" GE 1@1-(9+.*1<)7.4)<!S 21570<
- % G S 1@1-(9+.*1<)7.4)<!E™ 21570<
4376 14C1788)+ 2-532+ @ 4376 14C1788)+ 0)<-/[+ @

E ES 1@1-(9+.*1<)7.4)<!E "EE 21570<
"$E ' 1@1-(9+.*1<)7.4)<!"™ 21570<
E EE 1@1-(9+*1<)7.4)<!FE 21570<
- E H 1@1-(9+.*1<)7.4)<!" 21570<
0 ECF>> 1@1-(9+*1<)7.4)<! FS21570<
E F 1@1-(9+.*1<)7.4)<! "21570<

ES



E E 1@1-(9+.*1<)7.4)<!FE 21570<
E 1@1-(9+.*1<)7.4)< ! E F 21570<
4376 14C1788)+ 2-532+ @ 4376 14C1788)+ 0)<-I+ @ & ##

E E' 1@1-(9+*1<)7.4)<
2 -3 GE' 1@1-(9+.*1<)7.4)<
% % GE' 1@1-(9+.*1<)7.4)<
|E E 1@1-(9+.*1<)7.4)<
E E 1@1-(9+*1<)7.4)<
% E F 1@1-(9+.*1<
E EH 1@1-(9+.*1<
517C) 34376 120/ @ & )G)8 6751)+

+-C-1.7)1 ()<.71 1 9+ (*,8*+--+4.,5 71 31< 9134 0*1<= 71<4.5)1< | -144*1 15 90-.6*1

91 449154 7)3*.2+.5 71 5,-B*10@ -0<.3.15< *+5+4.<54*1* 3,-B.15 % )3*.*1 <0* 9+
-0<./01 & + (0 3,5<4.401* 05 2)*.4+B91 1@1*3.3k4M91 7+5< 91< 9144*1< *+5;+.<1<= 71
1+5 +3/01< ,0<<1+40 | ,-+.5 ,99+457= | :+*1 *12 .2*1 15:5 91< 5,-B*10@ 7)B+4<
1<47)4./01< /0 ,54 <,0912)< 91< .55,2+4.,5< 14 4*¥5-4.,5< -0<.3+91< 15 *+531C

GO ( H G ?+B*1*)(.<4,9.1*
|- 1 G 3,%*1<(,57+531< *+.51< 71< *@ 71 -1
4 H G +0(+<<+54
+ G 9+ 01*1991 71< ,0::,5< | 4*+21*< <1< )3*.4<79)4+ *1<
$ G 1*9.,0)3*.2+.5

1<0((,*4 71 9 .-+81 )4+54 57.<(15<+B91 | /0. 210 +((*)?1571* 9)2,904.,5 71< +*4< 70
<(134+391=9 ()*+ ,-./01 + .5<4+99) 7+5< <1< 1<31< (0B9.3< 051 <3)5,8*+(?.1 9)86*1
/0. (1*-14 7 1@(,<1*= 15 9.15 +213 9+ (*,8*+--+4.,5 051 .3,5,8*+(?.1 3,--154)1
*19+4.21 +0 3,-(,<.410*=19)(,/01 ,0 +0 815*1 719 L02*1 | 9 +::.3?1C 1< <(134+410*<
<,54 52.4)<17,551* 70 <15< | 71< L0O2*1< 3,5501«45 7)3,02*.* 7 +04*1< ,0B9.)1<= |
(*157*1 3,55+.<<+531 71< *1<<,0*31< .3,5,8*+(?./01%0 4?)D4*1 <<01< 71 <,5 :,57<C
<<,3.) | 9+ (*,7034.,5 (9+<4./01 3,541-(,*+.51 +.5 <. /0+0@ )2)51-154< (,9.4./01<=
9,0*+ 3,-./01 +((+*+M4 (90< :+-9.1*C 1 B04 71 X 1@(,<.4.5<7,<<.1*< 1<4 +0<<.
7.52.41* 91< 5,-B*10@ +-+410*< 71 -0<)1< | +((*)3* 9+ 7.-15<.,5 -0<.3+91 71 910*
(*)7.9134.,5 (,0* 05 (1.54*1 ,0 051 )3,91C

0 $ G 7)31-B*1 =+2*9 -+.
0 G A+52.1* F
+ G-+*< F=7)31-B*1 F
0 $ D5 G A+52.1* =7+5<9147?)D4*1 14 7+5< 9+ <414.DB1*
.0+ G-+*< =A+52.1* E
K$ + G7)31-B*1 FA0.5 =7)31-B*1
A0.5 E

EH



+*31 /01 9+ ()7+8,8.1 1<4 +2+54 4,04 051 +:+ *17+*91= 9 ()*+ ,-./01 (*,(<1

051 .54*7034.5 +0 <(134+391 +2+54 37+/01 *1(*)41B8.5C +336< 9.B*1= 31441
3,5:)*1531 7 051 2.584+51 71 -.5041< *+((1991 9543@41 71 3*)+4.5 71 9L02*1=
1@(9.3.41 <,5 <4N91 14 <5 815*1= 14 9.2*1 71<B3Q)R15<.,.5 71 9 .541%(*)4+4.,5
(*.(9)1C

0 3,0*< 71 3?2+/01 <)*.1 71 *1(*)<154+4. 5= 051 *BH54*1 1<4 (+* +.9910%< *8+5.<)1 +213
91 371: 7 *3?1<4*1= 91 -14410* 15 <3651 14 /0294@)I3.+9.<41< 71 9L02*1 (,0*
(1*-144*1 +0 (0B9.3 7 +((*,;,57.* <+ 3,-(*)?15<.,5 70 <(134+391C 1< 710@ 4N(1< 71
-+5.:1<4+4.5< <,54 3,5:0< 15 9.15 +213 9 )9+B, 5+A1< (*,8*+--1< 71 <+991 +..5 /01
310@ 3. ,::*154 15<0.41 051 (*,9,58+4.,5 71 31< -}54< 71 (+*,91< 14 7)3?+581<= 14
(1*-144154 71 3,5<1*21* :+.4<= .7)1< 14 *):)*1531<C

153,54*1< 7)B+4< 71 |'?10*1< +213 91< +*4.<4D<(134+391 14 71<<()3.+9.<41< 71
9 L02*1C

)31-B*1 F! - G H .541*215+54< ! F +07.410*<
)31-B*1 | G '.541*215+54<

+52.1* E ! 2 -3 G '.541*215+54<

< E! 4 - # |/ G '.541*215+54<

05 E! CB>7(7>C>E J K$ + G '.541*215+54<



J*K-1 1<32+-(< | <,07+.4) (1*()401* 9+ 4*+7.4.5 7 ,021*40*1 71 9 .5<4.404.,5 +0 (90<
8*+57 5,-B*1C

04*1 91< ,02*+81< ON*/01<=91<  <,54 051 <)*.1 71 -+5.:1<4+4.,5<= 15 *18+*7 71
32+/01 ,()*+= 7,54 91< 2 *+*1<= 91 :*-+4 14 9158150 2.<154 | <15<.B.9.<1* 71< (0B9.3<
7.21%<.:)<C + (*,8*+--+4.5 71< ' 1<4 +33,-(+85)1 71 -)7.+4.,5 30940*1991 14

7 +34.5< 71 <15<.B.9.<+4.,5 /0. :+3.9.4154®%:,5.:0(*6< 70 (0B9.3C

+*4+54 70 3,5<4+4 /01 31 <,54 91< (+*154< ,0 9716833410*< /0. +-65154 9+ A1051
8)5)*+4.,5 +0 4?)D4*1= 9+ (*.,*.4) + )4) +33,*7)1 B+ : *-+4.,5 71 31< (1*<,551<C 1<4 91
B04 (,0*<0.2. (+* 91< KO0 /0. (1*-144154 +0@ +<<,3.+4.,5< 14 +0@
(*,:1<<10*< 71 -.10@ +((*)?1571* 91 9.10= 91 81x 9+ <+.<,5 (*,8*+--)1C

1< -+5.:1<4+4.,5< /0. < +7*1<<154 (90< (+*4.309164 +0 A1051 (0B9.3 <,54 *)05.1< <,0<
91 41*-1 8)5)*./01 )+ 71-5<+ -) 6$ 217 4859/) 14 <,54 71 5+40*1 7.21*<1= 71(0.< 9+
(*,A134.5 71 :.9-< A0</0+0 3,531*4 3,--154) 15 (<+54 (+* 71 (14.41< :*-1<
4?)D4*+91<,0 70 -.-1C 9<<,54 (*,8*+--)< | 71< ?,*+.*1< 14 71< 4+*.:< <()3.:./01<C

1 (+*4+8115:+-.991 ,0 +213 9)703+410* 1<4 (**7.+9C
1< ' <,54)8+91-154 (*,(,<)< +0@ <3,9+.*1< 14 < +*4.809D4,0*
7 051 2.<.41 70 47?)D4*1 14 7 051 *153,54*1 +2139%k41< 70 <(134+391C

,99.3.4)< +0 (*.541-(< (+* 91 -5.<46*1 71 9+ 0940*1 14 71 9+ ,--05.3+4.,5=

9 ()*+ ,-./01 +((,*41 <+ 3,54*.B04.,519)9+B,*+ 4.570 (;*4+.9 % .<4,*1 71< +*4< &=
71<4.5) | :+2,*.<1* 314 15<1.851-154 7+5< 91<)4aq9154< 719 703+4.,5 +4.,5+91C 1
(,*4+.9 3,5<4.401 05 2)*.4+B91 *19+.< 15 -+4.680B4H4.21 +0(*6< 71< .541*5+041<= 15
-144+54 1 910* 7.<(,<.4.,5 71< *1<<,0*31< 7,30-1541< )9+B,*)1< +0 :.9 71 9+ <+.<,5 14
-<1<159.851<0*91<41719 ()*+ ,-./01C

I'F
5;(5)1;65)<3+@ )4+B9.<<1-154< <3,9+.*1<E1* 14 1-1718*) e 524)<
<)+ @
(% H (9+31<
(8 EC"FH (9+31<
( "S (9+31<
4376 -)+ 0)<3)+ 67;)+
;350532+ 2-7C4C59/)+ @
(/ H (+*4.3.(+54<
( L
( . FH (+*4.3.(+54<
129/)<37354< 34376) ? & 7135;57<3+

EF



F!
5;(5)1;65)<34@ )4+B9.<<1-154< <3,9+ (4 & 1-1 718%) e 5.21*<.4)<
<)+ @

($ G EC" (9+31<
(8 D /MN5 G C" (9+31<
( Gl (9+31<

4376 @ 67;)+

;350532+ 2-7C4C59/)+ @

(/ & H (+*4.3.(+54<
( L GS (+*4.3.(+54<
( D 5 GIH (+*4.3.(+54<

129/)<37354<34376) @ & 7135;57<3+

IE D 5
5;(5)1;65)<3+ @ )4+B9.<<1-154< <3,9+ *[4E 1-1 718*) e 5.21*<.4)<D

")<3)+

($ G" (9+31<
(8 D /MN5 GCS"(9+31<
( G (9+31<

4376 @ 67;)+ D 5

;350532+ 2-7C4C5H9/)+

(/ D IC 5 G EFS (+*4.3.(+54<
( L (€
( D 0 + 5 G
129/)<37354< @ # 713557<B*» 5
IE
%
2" &* P 7+5< 91 3+7*1 70 (*,A14 1< 541*P 0<)1<= +0A18* O
1471 C
2 K/l 0 +3?2+4 71 H (9+31<

9 n
E39+<<11 ,99681= (*,Al4 +04,0* 7D 4
"39+<<1<| 3,91 (*.-+.*1=(*,A14< <0* 9 15%-B91 71 9+ <+.<,5



AMIS & MECENES HD# H 2]

AM
*0.c%

OPERA COMIQUE , 85+ H 2;J<)+-) 6% 217 4859/)

*+<<1-B91 71< -)3651<= 154*1(*.<1< 14 (+*4.309.1*<= (,0* 3*)1* 71< (*,8*+--1<
*8.5+0@ /0. 7,55154 051 .-(09<.,5 | 9+ (,9.4./0B0940*1991= <,3.+91 14 ()7+8,8./01 71
9 ()*+ ,-/01=<,4G

< | 71<4.5+4.5 71 Al051< .<<0< 7 ?,*.0,5< 7.:R1%4 71
(1*<,551< <,0:*+54 7 1@390<.,5 G 05 7.<(,<.471ED 41-(<= 053)7.+4.,5 30940*1991
(0.< 051 ,::*1 71 (9+31< 71 <(134+391<C

) 7++)413 (,0* 91<-,5< 71 F +5< G 7051 2+910* 71 S f& 7,551 +336< |1 05 B,5
7 +32+4 71 E f/019</01 <,.154 91 <(134+3914894)8,*.1 71 (9+31<C 7++) 413+
54 +.5<.)4) :.5+53)< (+*9  (,0*-,.4.)<0*4 * . <<+.<5<C

- <4*0340%1< (+*415+.%1<

- E"S (9+31< 71 <(134+391< 7.<4* BOYI4OE 3+4)8,*.1<R

- *1(*)<154+4.,5< Q,()*+<= 3,531*4< 3,--154)< <(134391< % 1051 (0B9.3 &R

- E <)+531 1@31(4.,551991 (,@ Q C 1**.6*1<R

- F <)+531< 71 -)7.+4.,5 30940*1991 Q.5.4.+4. 5 ¥B@391<= 2.<.41< 70 4?)D4*1R
- 'A,0%5)1< 71 : *-+4.5 71< 15<1.85+54< | 9 ()*+ ,-./01

- B07814G"' f

21391 <,04.15 71 9+ ,57+4.,5 .((,3*651C
0

- 9+531-154 15 4,041 :.5 71 <+.<,5
21391 <,04.1571 9+ ,57+4.5 C

- E <4*0340%1< (+*415+.*1<

- (9+31< 71 <(134+391< R4 ' 3+4)8,*.1<R

- *1(*)<154+4.,5< Q,()*+<= 3,531*4< 3,--154)< <(134+391< % 1051 (0B9.3 &R
- E <)+531 1@31(4.,551991 | 9+ ),71 (,0* 15 7.*134=91 S A0.5



- E <)+531< 71 -)7.+4.,5 309401991 Q.5.4.+4. §(18@391<= 2.<.41< 70 4?)D4*1R
- ' A,0%5)1< 71 : *-+4.,5 71< 15<1.85+54< | 9 ()*+ ,-./01

- +.71 19+ 9,8.<4./01 (,0* 91 4*+5<(,*4 71< A1051<

- E:.9- 71 E"-5C <0* 9 ()*+ ,-/O1 *)+9.<) (+* 71 <)9621< 71

- E 4*+2+.9 <3)5./01 $49.<) (+* F 15:454< 70 1 +*4 71 +*<=9IE
A0.5C

- BO7814 G  f

21391<,04.15719+ 57+4.5 C

0

- 7)219,((1-154 71 9+ 7.::0<.,5 +0(*6< 71 9 15<1-B970 (0B9.3 719 ()*+ ,-./01
Q' .5<1*4< 7+5< 9+ B*3?20*1 71 <+.<,5R

- BO7814G H fQE f 71 3,--05.3+4..5= S f 71 <0B2154.,5 (,0*
E  (+<<1(,*4<R

21391<,04.15719+ 57+4.5 C

- +((*,:,57.% 91 9.15 +213 91< *1<(,5<+B91< 71 <44134

- 7)219,((1* 9+ -)7.+4.,5 30940*1991 (+* 4?6-1< 9H8@ <(134+391< 71 9+ <+.<,5

- +.71*1 9+ 9,8.<4./01 70 4*+5<(,*4

- 3¥)1* 71< <0((,*4<)7.4,*+0@ <()3.:./01<

- 53.41* | 9 +33,-(9.<<1-154 71 4*+2+0@ (1*<,5519<9115 +213 9 ,()*+ 14 91<
-)4.1*< 70 <(134+391 2.2+54

- E (9+31< 71 <(134+391<

- E <)+531 1@31(4.,551991 +04,0*70 $ ' 71 C (1*8?.<

- BO7814GH f-.5.-0-Q<19,5+((,*4 7 +04*1< <, 04.15<R

- )9+*8.* 9+ 7.::0<.,5 +0(*6< 70 (0B9.3 05.21*<.4+.*1
- ~151* 051 3,--05.3+4.,5 <()3.:./01
- BO7814GH f

1< (*,8*+--1< ()7+8,8./01< 14 <,3.40@ <1 <,54 7)21 9,(()< 71 :+,,5 .-(,*4+541 154*1

9+ (*1-.6*1 14 9+ 710@.6-1 <+.<,5 P (+* 91 5,-B*1+34.,5< -15)1< 14 (+* 9 +08-154+4.,5
5,4+B91 70 BO7814 71 . ! C 15219,((1 B0O78)4+*1 3,5<4+541=
9 ,BA134.: 71 9+ 4* .<.6-1 <+.<,5 <1*+ 71 (1*< 58914 7 .5415<.:.1* 9 +33,-(+851-154
71< A1051<= 5,4+--154 (+* 9+ : *-+4.,5 71< (1*<,552 /0. 91< 153+7*154C



2139 +*.2)171 y*K-1 1<3?+-(<19+7.*134.,57 19 ()*+ ,-./01 14 91 3?+581-154
*+7.3+9 71 (*,8*+--+4.,5= 9 +((,*4 7 051 5,02199173*41 8*+(?./01 (*15+.4 4,04 <,5 <15<C

9 +)4) 71-+57) +0@ 8*+(?.<41< 71 4*+2+.991* F19)854< BA134.:<= 4,0< 15 9.15 +213
9.7154.4) 71 9+ +.<,5 G

*17,551* | 3,55+M4*1 05 815*1 14 05 9.10 05 (DB9.)< 3,--1 :+.<+54 (+*4.1
54)8*+541 70 (+4*.-,.51 4?2)D4*+9 14 -0<.3+9 71(0k</01 " <.6391<=
- +53*1* 9.7154.4) 71 9+ -+.<,5 7+5< 05 6-1 <.6390. 2.4 9+ 5+.<<+531 71< (90<
B1991< (+81< 70 815*1=
- (1*()401* 9+ 4*+7.4.,5 7 ,021*40*1 +0 (90< 8*+57B*1=
- O+ (+*,7.1= O+ 3%)+4.2.4)= 9+ 3,5:* 54+4.,5 711805

L’ETOILE

CADMUS
ET HERMIONE

ZAMPA

ROMEO
& JULIETTE

PORGY AND
BESS

~2007-2008

Concerts, th e, confidences...

OUVERTURE DES LOCATIONS LE 1** JUIN : 0825 O1 01 23"~
T ROGRAMM N SUR -COMIQUE.COM

1< 71<.851*< +55N-1<= +<<,3.+4.5 71 710@ Al854&.<4l<= *1-(,*4154 9 +((19
7 :*1< 40 (*541-(<  C 10* (*,(,<.4.,5+99.1 )9)8+531 14 3%)+4.2.4)C

127354< -K/< <4/0)7/ 64C4 (1*4.51531 70 <N-B,91 71 9],.<1+0=91 -+.5+2%B.4 71
3?1: 7],*3?1<4*1=-1*91 -,/010* ,0 (.1 /0. 3?+541 CC

opéra



127354< -$/<) 465;)= 67 L 43(5; 70713 M
1441 (,9.31 1<4 71<4.5)1 +0@ 7,30-154< 71 3,--05:84.5 -+.< )8+91-154 | 4,0<
7,30-154< +7-5.<4*+4.:<C 991 .54*70.4 051 5475 -,71*5.4) *15:*3)1 (+* O+
3,5:%54+4.5 +213 91< 8*+20*1< 70  6-1 <.6391C

17<-0566)

4.9.<+4.5 14 7)39.5+.<,5 71< 4*+2+0@ 7 05 «4B14 .990<4*+410* 3)96B*1 70 6-1

<.6391C 1< (1*<,55+81< 71 *+572.991 <,54 71<+E@ | /0. .9 (*c4l 71< <154.-154<

20-+.5< (90< ,0 -,.5< 3,3+<<1< <19,5 91< <.40+4C5<

0<+81 71 31< 8*+20*1< (1*-14 7 +441.57*1 .--)7.44154 9 .53,5<3.154 3,99134.: 14
4*+70.4 (+%:+.41-154 9 1<(*.4 7)3+9) Q14 5)+5- F€10@R 70 815*1C

+ 3,5A08+.<,5 71 31< 7.::)*154< )9)-154< <0* 3?4/G0((,*4 71 3,--05.3+4.,5 (1*-14

7 .990<4*1* 9+ (,9.4./01 -.<1 15 L02*1 (+* 9+ *B3G .55,21* 7+5< 9+ 3,54.50.4)C

5 <,.5 (+*4.309.1* 1<4 +((,*4) | 9+ 7)39.5+.<,5 7B1441 3?+*41 7+5< 91< B*,3?70*1< 71
<+.<,5= 91< (*,8*+--1< 71< ,02*+81< 9N*./0l< +.381 <0* 4,0< 91< 2.<019< <1*2+54
9.5:*+4.5 14 9+ 3,--05.3+4.,5 +0 (90< 8*+57 5,-B*1 71(0.< 91 B.9914 71 <(134+391
AO</01 9 +::.321 71 9+ 3,9,551 ,**.<= 15 (+<<+B4 9+ *)+9.<+4.,5 8*+(?2./01 70 <.41
541*514C

1.371<






O*+ ,-/01 + 9+*81-154 7)219,(() <,5 *+N,551-1 54 8*D31 | 71 5,-B*10@
(+*415+* +4< )4+B9.< +213 91< (*.53.(+0@ -)7.+4= B 7.,<= (*1<<1RC

(R

(,4< 14 *)7+34.,5519
*+531 )9)2.<.,5< 1<4 (+*415+.*1 71 9+ (*1-.6*1 <«¢5 71 9 ()*+ ,-./01 +213 9+
(+*4.3.(+4.,5 +34.21 71 710@ 3?+M51<= *+531 G4
- *+531 G & =
- G ,*8N +57 1<<
+(4+4.,5<
+((*4 71 *+531 +(1*<G
- 9+737354<71 & +213 *+ *7 14 *41
- 9+;737354< 71 +213 -*+9 /0. + 7,55) 9.10 | 9+
(+*04.,570 )7.4) (+* 9(?+ *,7034.,5<15<1(4 1-B*1 FC
.::0<.,5< 19 +541551
- & G *+531"=91 7)31-B*1 FC

$ 1 $ E"$ =
b - % C

(,4< 14 *)7+34.,5519
*+531 1<4 (+*415+.*1 71 9+ <+.<,5 14 <,04.19%(9()3.:./01-154 9+ *1(*<1 71" $
14 9+ <13,571 L02*1 71 ?+B*.1*='

+(4+4.,5<
+((,*4 71 *+531 + (1*-<
- 9+3+(4+4.571 +213 *+ *7 14 *41C 1441 3+(4+4.,5 7,551*+
9.1019)74.5 705 = (*1-.1* ,02*+81 71 9+ 3,99134.,5 9+53)1 (+* 9 ()*+
,-/01155,21-B*1 =153,)7.4.,5+213 *+ 0< 3+
- 9+3+(4+4.570 +213 -.*+9
- 9+3+(4+4.571 +213 *41 14 *+ *7C 1441 3+(4+4.,5= +213 904,15 71
19 3*+5=+ (1*-.< 9+ 7.::0<.,571 =15 7.*134= 7+5< ' <+991< 71 3.5)-+ 15

*+531 1419 )4*+581*=91 SA0.5 C
.:0<.,5<19 +541551
- G *41157)31-B*1
. G *+531"15(*-14.-119+()*, 7171 ,[9147 .::0<.,5<0* *41C

- +:+.49 BA14 7 051 3+(4+4.,571< .9-<7 3.

75+4< ? - .
*+531 (+*415+.*1 71 9+ <+.<,5C
! 3+(4) (+* -*+9 +21391<,04.1571 *+531 C



1 (+*415+*.+4 )4+B9. 154*1 *+531 0<./01 14 9 ()+ ,-./01 + 7,55) 9.10 | 71
5,-B*10<1<,()*+4.,5< Q)-.<<.,5<=*14*+5<- <<, ,b<{,4<=*)7+34.,5519= 143CRC

- <,04.15 *)7+34.,5519 14 7.::0<.,5 71 <(,4< 1 9 +581 71 " (*,7034.,5< G &

" $
- "+43301.9<719)-<<.®; # % P Q 15 (¥)<1531 70 (0B9.3 14 15 7.*134
70 N1*719 ()*+ ,-/01=19,33+<.,,571<<(134 +391<& " $ -
%

- +3301.971 9+ 3,5:)*1531 71 (*1<<1 71 *+531 0<.D+0 ,N1* +2+*4

14*+5<-.<<.,6< G

- & QI157*134= = T7)3C R

- %P J 8! Q1B0<<NR

- | $ Q ?+B*.1*R

- )3.4+9 (,0* (+5,< Q ?2+B*.1*R

- (R @* ; + Q ?+B*1*R G 7.::0<.,5"E 7)3C | ?

. Q7.*134 HA+52C F=+213 R

- "$  Q7.*134= =ES-+*< FG7.:0<) (+*" *+7.,<)4*+586*1<R
- CA9> Q +7., *+531R

- $ + # 9 % 8 # 2 0
- 1< *1-.6*1< ?)*,b51< *,-+54./01<
- % R Q1,81 *0-BR

- )3.449 \N31 .,5+4,
- )3.44+49W.- *<X199
- :ST R CB9>
<,04.15 *)7+34.,5519 14 7.::0<.,5 71 <(,4< #941551 71 " (*,7034.,5< G
= 14
14*+5<-.<<.,5<G
3+(4+4.,5<=7,54"*14*+5<-.<<,,5< 15 7.*134 G
- Q157.*13491 7)3C FIES?R
- - Q91H7)3C FI ?R
- 0 % Q157.*13491 FA+52C | ?R
- Q3+(4) 91 "E A+52C 14 7.::0<) 91 H +2*Cl 7R
-0 Q3+(4) 91 -+*< 14 *14*+5<-.<91 -+*< R
- Q157.%13491 -+*< | ?R
- 14 Q3+(4) 91 F-+*< 14 *14*+5<-<91E +2*9 IE"?R
- $ Q157.*13491 F+2*9 | 7R
- Q157.*13491" A0.51 ?RC
,04.15 +213 *14*+5<-.<<,,5< (*)201< (,0* 3.5/ ,)*+<G 2 -
3 % % % 14 3.5/

N <43)1G *+531 0<./01 1<4 )8+91-154 (+*415+*1 71 9 G+ ,-/O1 (,0% 9+ (+*4.1
+07., 71< 3+(4+4.,5< +07.,2.<01991<C



1 (+#*415+* +4 9.454 9 ()*+ -/O1 14 *+531 541 * 3,-(*157 05 <,04.15 *)7+34.,5519
14 9+ 7.::0<.,5 71 <(,4< | 9 +541551C

1 (+*415+* +4 (*41 <0* 91< <(134+391< ' 14 - %
O*+ -JO1 + (+* +.9910*< +3301.99. 9)-.<<..5 71 4)(?+51 1*5=
*14*+5<-.<1 15 7.¥134 <0* *+531 541*C

1 (+*415+% +4 (,*41 <0* 91< <(134+391< 14

1 (+*415+*.+4 (,;*41 <0* 91< <(134+391< % 14

+*415+*.+4 <0* 91 :1<4.2+9 +04,0* 71 =+213
- 3,021*40*1 *)7+34.,551991 <0* 9 15<1-B91 70 :1<4.2+
- 3+(4+4.571 . 14 *14*+5<-.<<.,,5157.*134 91 H -+*<
- 3+(4+4.571" 14 *14*+5<-.<<.,5157.7134 91 -+*<

9+ <0.41 7 05 5,021+0 37+581-154 71 7.*134.,5=7.+ 9+<<./01 3,53154*1 <1< :*31<
+04,0% 71 9+ (*,-,4.,5 71 7.</01< +0 7)4*-154 71 O 7.::0<.,5 71 3,531*4< 15 7.¥134C

5 (+*415+* +4 | 4% < 1<4 152.<+8) +213  #= 91 -)3651 71 =
2.<454 | 49.<1* O+ (4.5 71 9 15<1-BOL 70 A2+9= 4213 05 )30+ *+81 (+*4.309.1* <0*
9,0*+C

- (*)<1531 (0B9.3.4+.*1 ¥)809.6*1 QE! (+81<R 4,0680/1 9+ <+.<5 F!
- *)+9.<+4.5 705 ) | (+*4 QEH ( /0+7*R 15 A¥52. = | 9,33+<.,5 71
G E  1@1-(9+*1< 153+*4)< 7+5< 8+*<3,(1 e  1@1-(9+*1< | 9+
7.<(,<4.5 719 ()*+ ,-/O1 7)3*.2+54 91 (*Ald +*4.<4./01 Q1@(9.3+4.,5<= .990<4*+4.5<R=
91 9.10 Q7)4+.9< +*32.41340*+0@= 4*+2+0@R124 $I3+0@ 14 30940*19< Q +<<1(,*4
A1051<= 5 )3651 710@ *18+*7<= A1051 (0B9.3R
- <+.5,5 IE G (+*415+* +4 <0* " :1<4.2+9<C

- <#<5 F! G (+*415+*+4 +04,0* 71 0 Q<,04.15 *)7+34.,5519 14
7.<(,<4. (*-4.5519 X1B <()3../01= H 3.B9 1<RU 153+*4+81 71 ES
7)(9.+54< 745<915970"A0.5 C

- <+<5 [IE G (+*415+*+4 <0* " :1<4.2+9< Q<4,64*,-,4.,5519 h *)7+34.,5519RC



$!

<+.<5 Fl G (+*415+*.+4 <0* 14 = +213 3,021*40*1
(0B9.3.4+.*1 ¥)809.6*1 <0* 4,041 9+ <+.<,5
<+.<5 IE G*1(*.<170-,7691 71 9+ <+.<,5 (*) 3)71541 Q15 3,0*<RC

<+<5 F! G7.<(<.4.(*-,4.5519<()3.../01  (,0*
<+<5 E G7.<(<4.:(*-4.5519<0*S ,)* +<147.<(,<.4.:<()3.../01 (,0*
91 +<<1(,*4 A1051< Q15 3,0*<RC

<+.<5 F! G-.<1159.851%809.6*1 71 2.7),<(*,-,4.,551991< 71< ,()*+<
Q7.<(,<.4.: +33,-(+85) 71 B+571+0@ (0B9.3.4+.*1<R

<+.<5 E G-c-1B+<1= +8*%)-154)1 71 % B+571<+55,531< & (* -,4.,551991<
<0((9)-154+.*1< Q15 3,0*<RC

)3 O
<+<5 |FG<,04.1570 (*,8%+--171< +*7.5<7 19 ()*+ ,-/01
<+<5 F G<,04.1570 (*8*+--171< +*7.5<7 19 ()*+ ,-/01C



1 <.41 .541*514 04.9.<) (*)3)71--154 5)4+54 5.4B5+34.; 5. 1*8,5,-./01= +213 05
3,54150 9.-.4) +0 3+9157*.1* 71 9+ (*,8*+--+4.,5= @+ -./01 7)3.7) 71 3¥)1* 05
5,021+0 <.4113,-(41* 71 9+ <+.<5 F! =<19,5 4* .<+@1< 71 7)219,((1-154 G

! $ I'N

05 <.41 /0.02(5;/6) 6$5-)<35321 9 ()*+ ,-./01= 3,5;0 <19,5 9+ 3?7+*41 8*+(?./0 171
9.5<4.404.,5

/1<) <705C7354< *6/5-) )3 17 5-13-150=-094.(9.3+4.,5 71< 9.15<= 143CR

051 8)566)/1) 12+)<37354< -) 67 14C17887354«213 -.<1 15)2.71531 71< 1<4.2+9<
14 71< QE (+81 (+* <(134+391R

+-)9.,*+4.,5 71< 3);(<59/)+ -) 0)<3) )< 65C<) G (,<<.B.9.4) 7 +33)71* | 9+ *)<1*2+4.,5 15
9.851 <0*4,041< 91< (+81< U 9+4531-154 7 ,::*44.(551991<
, 12*21)<;)8)<3 <0* 4,0< 91< -,410*< 71 *13?71*3?1 Q+0(+*+2+54.<B¥@RC 1 <41
+(+*+M4 7)< *-+.< 15 (*1-.6*1 (+81 71< *)<094+4<q* 91< 4.4*1< 71< <(134+391< 71 9+
<+.<,514 (,0915,- 71 9 .5<4.404.,5C

" $ "l

*13?21*371 7 05)1C4<485) 4 3585+2)

1)<*41;)8)<3 -)+ 65)<+ 70); 6)+ -5**21)<3+ /A65]5 7)219,((+54 91< (+81< 7)7.)1< 14
3.B9)1< Q(0B9.3 A1051= +B,55)<= 143CR= +263 Tl<4#B34< (,0* -144*1 15 9.851 71<
3,54150< <()3.:./01< Q,::*1< (*.2.9)8.)1<= 3,541580-154+.*1 14 (*,:1<<.,5519R

7N5+-.<-1 70 <.41 +213 05 3,541502C/65J1)8)<3 7;3/765+2051 -.<1 15 +2+54 71
9 +340+9.4) 70 4?)D4*1 14 B.154K4 71< +*4.<41<

)<045 -) <)P+6)33)14 9 ,33+<.,5 71 3?+/01 :1<4.2+9 14 )2)51-154 (,5BA9< <,.4
F 51X<91441*< 71(0.< 91 -,.< 71 -+*<

8/635 65;7354< -)+ 1)++4/1;)+ </82159/)+.<1< 15 9.851G 1@4*+.4< 2.7), QF (,0* 9+ <+.<,5

FI R=(?,4,< 71< <(134+391<= +::.3?1< 50-)*.<)%= 3,54150 *)7+34.,5519C

1)+);3 -)+ <418)+ -$7;;)++5A56532 Q G 31< 5,*-1< 8+*+54.<<154 /01 91 <.41 (104 c4*1
*13,550 (+* 91< (*.53.(+0@ 5+2.8+410*< 14 7,53 BFBY (+* 9+ -+A *.4) 71< .541*5+041<C
1 <41 1<4 )8+91-154 3,50 (,0* <+7+(41* +0@ BA9I< 04.9.<)< (+* 91< (1*<,551<
-+92,N+541<C

-20)64 )8)<3 -/ ;4<3)</ 2-7C4C59/) )3 -)+ 1)++4/1 )+ -4;/8)<3751)+

*3?2.21<50- ) */ 01<71< <(134+391< 71< <+.<,5< I'F Q15 3,0*<R 14! 14 71<
2.<019< 8*+(?./01<C

<1 159851 71 *1< 0*31<50- ) */ 01<(, 0* 9 8*+57 (0BA3 G 051 (+*4.1 71< .5:,*-+4.,5<
3,-(*.<1< 745< 91 (*,8*+--1 Q% 9.*1 +2+54 91 <(48391 &= +*80-154YR= (?,4,8*+(?.1<
71< <(134+391<= (¥)<154+4.5 71 9.5<4.404.5./@?.44 71<3*.(4.5 71< 1<(+31<
(0B9.3<RC

<1 15 9851 71 7, <<1*< () 7+8, 8/ 01<= *)<1*2)< | 31*4+.5< (0B9.3< Q15<1.85+54< 14
)407.454<RC

+HHA5+H+4+213 94 5<46*1 71 > 00*1 1471 ¢ - - 05.3+4, 5G 3,54*.B04.,5 +0
(,*4+.9 .541*- 5.<4)* DAXXC?.<4,*171<+*4<CB71<4.5+4.,5 71< 15<1.85+54<C




51 8)566)/1) 65+5A56832.5: *-+4.,5<C

5 15*37.<<1-154 14 05150)1+5*5;7354< 12/++5) -)+ 1)++4/13:80-154+.*1<C

<) 8)566)/1) ;4<<75++7<:) -)+ IAB5;+ CLR;) > 67 85+) )< 67;) -$4/356+ +3735+359/)+
Q1@1-(91 G :*)/0154+4.5 70 <.41 15 ()*.,71 71 8MDG EE  2.<.41< (+* -,< | 15
0%, 71 71 *1(*)<154+4.5G  2.<.41<(+*-,< RC

$I"

51 -1.9910*1 3,55+.<<+531 71< (0B9.3< (1*-14 711:0@ *)(,57*1 1 910*< 71-+571< 14
71-10@ < +7*1<<1*1 10@C

14*4<-51 67 -5**/+54< 7/ 6/+ C17<- <48A1))3 7826541)1 6) 7137C) )3 67 -5**/+54<
-)+ 1)++4/1;)+ </82159/)+

-<1159.851 7051 21*<.,5 +589+.<1 70 <.41

-.<115 (9+31 71 (+*415+* +4< +213 71< .5<4.8080940*1991< +.5<. /01 71< (9+41:*-1<
717.::0<.,50Q4N(1 7+.9N -,4.5R
20)64 )8)<3 -) 6$5<3)17;3505328*D31 +0@ :90@ C



15,-B*10@ A,0*5+9.<41< ,54=71(0.< 710@ +5sG2)BX371-5719 ()*+ ,-./01C

. 91< (*,7034.,5< ON*./01< 71 9 ()*+ ,-/O1 <,54 +4415701<=.9 1<4 |5,41* /01 9+ (9+31
7)2,901 +0 <(134+391 2.2+54 15 8)5)*+9 14 | 9 ,(F5(+*4.309.1*= 7+5< 9+ (*1<<1= 51 31<<1
71 <1 *)70.*1= +9,*< /01 7+5< 91 -c-1 41-(<= 9 ,1*30940%1991 89,B+91 Q +*.< 14 (*2.531R
1<4 (90< .-(,*4+541C

12,9454 71 A,0%5+9.<41< +33%7.4)< | 9 ()*+ ,-/01 71(0.< 9+ <+.<5 |F 1<4
~(,*4+54G 152.*5 H A,0%5+9.<41< (+* (*,7034.,5C

15<1-B91 71 9+ <+.<,5 1<4 <0.2. (+* 91< 8*+5747(L5< 5+4.5+0@ Q1 ,571= 1
8+* R= 91< 8*+57< ?1B7,-+7+.*1< Q +*+551= 154= @(*1<<=91 ,0219 B<1*2+410*=
)O)*+-+= 91 .8+% +8+0.51= 91 .8+*<3,(1R= 91&53.(+91< *+7., Q = 0% (l E=
*+531 5:,= *+531 541*= *+531 0<./0l= *+531 0940*1= = +7., 9+<<./01R= 91<
A0*5+0@ 4)9)2.<)< Q E= *+531 = *+531 "= *41=#+531 'R= 9+ (*1<<1 <()3.+9.<)1
Q-15<019< 14 <.41< .541*514RC

+ 5,021991 *.154+4.5 +*4.<4./01 Q+213 051 (*8%4.,5 1@.81+541 14 7 1@31991531R
-+*/01 91 *14,0* 71 3*.4./J01< -0<.3+0@ )4*+581*<*{144+54 05 5,021+0 *+N,551-154
719 ()*+ ,-/01 7+5< 91 (+N<+81 ON*./01 .541*5+45+9C

1< A,0*5+0@ 8)5)*+9.<41< Q 1*+97 *B051= ?153#9 .-1<= ?1 057+N .-1<= .1
\194= 101 #Z*371* #1.4058= + 4+(+= 9 057,= + .B*1 198./01= + 2,.@ 70
0@1-B,0*8YR ,0 <()3.49.<)< Q (1*+ 1X<= *+57 (1* += 58+V0 5, = (1*+=
*(?10<= *1<13157,= (1*+ 340+9= .4-YCR <0.215801< (*7034.5< 71 9 ()*+
-./01C

1 9.15 +:134.: :,*4 +213 31 4?)D4*1 1<4 *)19GB?1@ +*4.<4./01< Q¥)(1*4,*1 *+5:+.<=
*4%14) 71< LO2*1<= B+*/01= /0+9.4) 71< 7.<4* B@4.143C CR <,54 +((*)3.)<C

019/01< (?*+<1< 1@4*+.41< 71 A,0*5+0@ 9,*< FKFr <F! -54*154 /01 91< 3?,.@
71 (*,8*+--+4.,5 <)70.<154 9+ (*1<<1 Q+551@1 5g ER



715* 5) @ 766) 70713
+4
Ei 'H FH
i| EH #
il E & S
i | EH
Si| E
Hi Q<+5< 2.<.B.4.4)R"F &
+081 | E S§ 2 &
*@ -,N15 ! (9+31 #
715* G;) 354<<)6 )6627+ 5)/ @ 766) 70713
+4
Ei| 'H
i| EH ? H
il E # SH
i | E'H
si| E
Hi Q<+5< 2.<.B.4.4)R"F &
+081 | E S§ 2728&
*@ -,N15 ! (9+31 #
715* 5) @ 766) 70713
+4
Ei 'H "F
i| EH "
il E ? "
i | EH
Si| E
Hi Q<+5< 2.<.B.9.4)R"} &
+081 | E S§ #&
*@ -,N15 ! (9+31
715* 5) @ 766) 70713
+4
Ei| 'H '
i| EH E
il E ? ES
i | EH
si| E
Hi Q<+5< 2.<.B.4.4)R"F &
+081 | E S§ &#
*@ -,N15 ! (9+31




715* 5)/ @ 766) 5S)3
+4
4+*:05./01| E
+081| E
715* 5)/ @ 766) 70713 4/ 5S)3
+4
4+*.: 05./01 S
+081QSJ71 EFRE .014
+081 QSJ71 EFRE S§ +24*4
715* 5) @ 766) 70713 4/ 5S)3
+4
4+*.:05./01
+081| E .014
+081 | E S§ & # +2+*4

QIR 5154157 (+* G-,.5<71 F +5<= ?K-10*<=,99C=

+57.3+()<

O*+ ,-./01+9 +-B.4.,57)9+*8.* 14 71 *+A105
04*1 91< ,()*+4.,5< -.<1< 15 (9+31 (+* 9
71< (*.@ 71 (9+31< +331<<.B91<= (1*-144+54 +58k(T341* 9+ 4*+7.4..5 71 9+ <+991
+2+*4= /0. 7,.4 *1<41* (,(09+.*1 14 *+::.5)1C 4<.5<. /01= <. 91< 4+*..< 71 9+ (*1-.6*1
3+4)8,*.1 ,54 )4) 9)86*1-154 *1912)< (,0* 9+ <+.<5F! = 91 (*.@ 71< 3+4)8,*.1<
5:)*.10*1< + +0 3,54*+.*1 )4) ¥)70.4= (1*-144+545«. 9 +336< +0@ <(134+410*< 91< -,.5<
+.<)<C" J 71< (9+31< -.<1< 15 21541 <,54 +.5€514+*.: .5:)*.10* ,0)8+9 | ESf14 S J

71<(9+31<<,541-,5<71" fC

*153,*1 <,5 (0B9.3= 7)Al 4*6< 2+<41C
O0*+ ,-./01 + <,0?7+.4) -+.5415.*



E 67)+ 4376
’ ))33)+
A 4;:/ 2)+ +);373)/1+
yareyr | AU UiTie) | D7u7<a+ ASS\?))(%?B
(U+59/) 5<0532+I
75+4< #
14-/;354<+ 6U159/)+ ?E # %
18)/1+ # E & &&S
= > > > ? = >
75+4< ?
14-/;354<+ 6U159/)+ &E &#
/8)/1+ &E #

1< *131441< B.991441*.1 54 (*8*1<<) 71 F=SL WM <+<5 | F 14 9+ <+.<5
FI = +213 051 +08-154+4.,5 70 5,-B*1 71 *1(*)  <154+4.5< 71 E=JU 91 5,-B*1
71 <(134+410*< (+N+54< + 90. +08-154) 71 E'=HI<@-1 ()*.,71C

%II

A4<<)8)<3+ 48A1) 14C1)++54<
75+4< # ##
= E
75+4< ? #
= E
75+4< ? &
'3% 2

1< +B,55)< 3,5<4.40154 7)<,*-+.< ES J 70 (0B9.3)#54 719 ()*+ ,-./01C
5 +B,551-154 % <,*)1< +2+*4 & + )4) 3%) (,0* 9+ <+.<,5 IE /0. (1*14
7 +08-1541* 9+ *)/0154+4.,5 89,B+91 -+.< <0*4,04-J9. *1* 91 4+0@ 71 *1-(9.<<+81 71<



(O*+ /01 + 158+8) 71< (+*415+* +4< 5<4.404. 5519< (,*4+54 <0* 9+ 3,5<1*2+4.,5 14
9+ -.<1 15 2+910* 71 <,5 (+4*.-, .51 +*4.<4./01 1#39.41340*+9 71 9 ()*+ ,-./01
+0(*6< 7 05 9+*81 (0B9.3C

## #

154*1 71 -0<./01 *,-+54./01 :*+5;+.<1 :,57) 15 =7,549 ()*+ ,-./011<491

(*1-.1* (+*415+.*1C

1 (+*415+*.+4 (,;*41 <0* /0+4*1)9)-154< G
6)+ ;4 14-/;354<+ -$4/017C)+ 6U159/+< 15 <3651 70 *)(1*4,.*1 *+5;+.< 154*1
EF 14 E :+<+54 9,BAl4 (,0* 3?+305 710@ X 0%*1 71 (90<.10*<
*1(*)<154+4.,5< 7,55)1< <0* 9+ <3651 719 ()*+ ,- ./0l1=
6)+ ;4 14-/;354<+ -) ;4<;)13+ /0. <1*,54 7,55)< <0* 91< 9.10@ 71 3,531*4< 4<<,3.
+0 +9+00144, *0 #+51 1419 ()*+ ,-./01=
6) ;4<+)56 7135+35&)91 +9+00144, *0 #+51 .541*2.154 15 4+54 381.991*
+*4.<4./01 14 <3.154.:./01 Q7.<4*.B04.,5<= 15A3BM150 71< (*,8*+--1<= 3?,.@
7051 (+*4.4.5 71 *):)*1531= 143CR <0* 71< (*A14<0<./01 *,-+54./01
*4+5;+.<1=
67 ;4,41C7<5+7354< 2-5354< -) ;46648B)901 +9+00144, *0 #+51 14 9 ()*+
,-.101 3, *8+5.<154 3?+/01 +55)1 710@ 3,99,/01< 9)< | 9+ (*,8*+--+4.,5 71
9 ()*+ ,-./01C 1< +341< 71 31< 3,99,/01< <,54 3,)7.4)< (+* 9 ()*+ ,-./01=
91 +9+00144, *0 #+51 14 91< 7.4.,5< N-)4*.1C

1441 3,52154.,5 (¥)2,.4 91 21*<1-154 71< +*32.274 9 ()*+ ,-/01 | 9+ 5= 9O+
3,56<1*2+4.,5 14 91 3+4+9,8+81 (+* 9+ 5= +.5<. WI@(9,.4+4.,5 14 9+ -.<1 15 2+910* 70
1,57< 719 ()*+ ,-./01C

+  + *8+5.<) 051 3+-(+851 (?,4,8*+(?./01 19 O*+ ,-J01= /0. +9.-1541%+ 91<
.990<4*+4.,5< 71< 1@(,<.4.,5< +.5<. /01 91< Z,44.0*8*+--1< 71 <+991= 14 3,54* BO1*+
| :+.*1 3,55+M4*1 <,5 *.3?71 (+4*.-,.51 +*3?.41340*14 7)3,*+4..C

+ (+*4.3.(1 +0@ 3+-(+851< (*,-,4.,551991< 71 31*4+.5< 71< <(134+391<
(*,8*+--)<= (+* 91 B.+.< 7 +::.3?+81< 7+5< 91< <B4 71 -)4*,C

+ 57+4.5 149+ 57+4.5 <1 <,54 *+(( *3?)1< +..5 7 LO2*1* 15<1-B91
3,54*1 9 1@390<.,5 14 15 :+210* 71 9+ 30940*1 B 18.<,3.+9C

0 E'+0 "E A+52.1* <1<4 41501= 1| 9+ <4+40B1* 70 =19,33+<.,5 71 9+
(*)<154+4.,5 70 <(134+391 19 )*+ ,-/01=051 1@(,<.4.,5 <0* 9.5<4.404.,5
14 <0* 0B1*=<,0< 91 4.401 $ D5

97?7*0,5 E" E'=19,33+<.,5 71 9+ *1<4+0*+4 71 9+ <4+4.,5 .3?19.10 *,0,4= .9 1<4
152.<+8) 7 % ?+B.991* & 9+ <4+4.5 +0@ 3,091®*¢*+1,-./01= 8*D31 | 051
5<4+99+4.,5 <,5,*1 14!1,0 (9+<4./01C



1 154*1 5+4.,5+9 70 3,<40-1 71 <3651 3,5<1*21 9Bs<40-1< 39+<<)< 71< (*,7034.,5<
719 (*+ ,-/01 14 *8+5.<1 71< 1@(,<.4.,5< 41-( *+.*1< <0* 7.::)*154< 4?26-1<C
+*+99691-154= 91  + 158+8) 71< *13?21*3?1< <®?.<4,.*1 71< 3,<40-1< | 9 ()*+
-J01C +*4.51 W+?+51= 7.*134*31 70 = 1<4 (1 *<,55+9.4) /0+9...)1 +0 3,-.4)
1@)304.: 71 9+ ,57+4.5 C

O*+ ,-/01 14 91 <1 *153,54*154 +04,0* 70 *)(1*4,.¥1 ON*./01 *+5:+.< 71<
114  '<.6391< 14 +8.<<154 15 (91.51 3,-(9)-154+*.4) T+ -.<<.,5< (,0* *13*)1*
9+ 3,2)*1531 14 9+ -+8.1 70 <(134+391 B+* /01 1330+<<./01 8*D31 | 9+ *1<4.404.,5 71
4,91< (1.541< 14 9+ *13*)+4.,5 7 05 % 4?)D4*32.54< &C



(O*+ ,-/01 ,02*1 3?+/01 +55)1 <1< (*41< | 71 5,-B*10@ 2.<.410*< | 9,33+<.,5
71< ,0*5)1< 70 (+4*.-,.51C 1< 2.<.41< 14 +419.4/54 *8+5.<)< +..5 71 (1*144*1 | 4,0<
91< (0B9.3< 71 7)3,02*.* 9+ *.321<<1 70 (+4*.-153?2.41340*+9 14 +*4.<4./01 71 31441 B1991
+.<,5C

+3301.9 -)7.+4./01 + )4) 1@3199154C

8 : 824+
B (+*4.3.(+4..5719 ()*+ ,-/01131<A,0*5)1<(, *41<,021*41<C

*)/0154+4.,5 G 05 (10 (90< 71S  2.<.410*<

3,5:)*1531 (,0* 91< +B,55)<

S +419.1*< Q8*,0(1< 71" (1*<,551<R 7 .5.4.+40B15*1 ,()*+ 3,-./01

" +419.1*< Q8*,0(1< 71" (1*<,551<R % -)4.1*< & &

" 2.<.41<80.7)1< Q8*0(1< 71" (1*<,551<R 715 -.5041<C
+ @ G +419.1*< -+/0.99+81 14 +419.1*< 7 .5.4.+4)*% B9./01 14 +0
3?7+54= <0* 91 (9+41+0C

8 824+

*)/0154+4.,5 G 05 (10 (90< 71'C 2.<.410*<

'3,5:)*1531< 7 E ?10*1 <0*9 ()*+ ,-./01=91 8 15*1 14 9 .5<4.404.,5

'+419.1*< Q8*,0(1< 71" (1*<,551<R 7 .5.4.+4+6 815*1 ,()*+ 3,-./01

H +419.1*< Q8*,0(1< 71" (1*<,551<R 7 .5.4.44;57+5<1 B+*,/01

" 2.<.41< 80.7)1< Q8*,0(1 71" (1*<,551<R 71 'S5041<C
+ 9 G +419.1*< -+/0.99+81 14 +419.1*< 7 .5.4.+4)*% B9./01 14 +0
37454 14 05 +419.1* 7 .5.4.+4.,51 9+ 7+5<1C

j $

+ -+5.:1<4+4. 5 *+5+.<1= 54.40991 J K$ = 1<4 051 .5.4.+4.21 71 9+ )05.55 71<
O+ 71 *+531= 7+5< 91 3+7*1 71< 0% (1+5 (1*+  +N<= +213 91 <,04.15 :.5+53.1* 70
5.<46%1 71 9+ 30940*1 14 71 9+ 3,--05.3+4.,5=971 +.<<1 71< 7)(Kd<= 71 9+ 57+4.5
*+581 14 71 9+ 2+-B*1 (*:1<<.,551991 71< 7.¥1301t< 7 ()*+C

+(*1-.6*1)7.4.5+109.10 15 -+<3151<4 /015 F /019 (*+ ,-./01 +

(+*4.3.0= (,0* 9+ (*1-.6%1 :,.<= | 31441 -+5.:1<44.,5C

= 30@+7 +
ES 2.<.410%*<

2.<.41< 3,--154)1< 71 9+ +991 +2+*4

*153,54*1< +213 91< (*,:1<<.,5519< 70 4?)D4*a+4F)B1= *)8.1= YR

+419.1* % +0712.991 & G .-(*,2.<+4.,5 7 05482, 7+5< 9+ +991 71< 37L0*<
2.<.41< 71 9 +419.1* 3,<40-1<

+419.1*< % -+/0.99+81 & (,0* 91< 15:+54<

,021*40*1 +0 (0B9.3 7 051 *)()4.4.,5 71 $



+'9)7.4.5712 J K$ =/0.+109.1091 -+ =+*1-(*4)91 -c-1< 0336<
/01 9+ (*)3)71541 QECS 2.<.410*<RC

% &
+(*1-.6*1)74.571 $ = 9+ kic4l 71< <,*4.1< 30940*1991<k < 1<4 41801 91<
F <1(41-B*1 | +*<C *6< 71 9.10@ 30940*19<971 71 *+531 ,54 (*)<154)= 15 +2+54
(*1-.6*1= 910* (*,8*+--+4.,5 F! 14 E C 2< 410*<=754 EC (*:1<<.,,5519<

71 9+ 30940*1= ,54 2.<.4) 91 +9,5C

18*0()< 15 2.99+81< 47)-+4./01<= 91< 1@(,<+54< (I1B4+309+*1 7)2,.9154= 15
1@390<.2.4)= 9 15<1-B91 71 910* (*,8*+--+4.,500,1 (1*-144*1 | 4,0< 71 <1 :+.*1 051
7)1 (*)3.<1 71< <(134+391< 71 9 +55)1 | 215.* 14B)5):.3.1* 71 4+*.:< (*):))*154.19<C

O*+ ,-/01 )4+.4 (*)<154= 76< 9+ E 1)7.4.5=| 31 8*+57 *15710 2,0< 71< (0B9.3< 14
71< (*,:1<<.,5519<C

#
O+ ,-/01 1<4 (*)<154 7+5< 91 2.99+81 % -0<./01<&= +213 05 <4+57 71 -= +0@

3K4)< 71< +04*1< <+991< 7 ,()*+ 14 71 3,531*4.455¢< Q ?D41914= = 91N19 14 .4) 71

9+ 0<./01= ()*+ 71 +*<RC 19+ +0*+)4) 9 33+ 71 7.::0<1* 9+*81-154 91< <0((,*4<

71 3,--05.3+4.5 71 9 ()*+ ,-/01 QB*3?20%1= :9N1 *<= 143CR 14 71 *154*1* 15 3,54+34

+213 05 5,021+0 (0B9.3C

& # 2
*)<1531 14 ,()*+4.,5 .7154./01<

O*+ ,-/01 (*:.41 71 9)2)51-154 (,0* 7.<4*B  01* 05 /01<4.55+.*1 +0@ 2.<.410*<
+:.57)9+*8.% <5 :.32.1*C

(O*+ ,-JO01 + +3301.99.= 91< E"=E' 14 ES ,34,B* =91 ,99,/01 70 3.5/0+54.6-1
+55.21%<+.*1 70 -.5.<46%1 71 9+ 0940*1 14 71 9+05.3+4.,5= <0* 91 476-1 % 0940*1=
9.4./01 14 ,9.4./01< 0940*1991< &C
0*+54 31< 4*.< A,0%5)1<= 71< .541*215+54< (*18@8,54 +5.-) 71< 4+B91< *571<
712+54 05 (0B9.3 3,-(,<) 71 (*,:1<<.,5519< 14 71 3010@C
1441 ,()*+4.,5 + (1*-.< 19 ()*+ ,-/01 7 +<<,.* <+ (,<.4.,5 7+5< 91 (+N<+81 30940*19
*+5:+.< 14 541%5+4. 5+9C

O*+ ,-/01 1<4 9+ (*1-.6*1 .5<4.404.,5 10*,)1  551= +(*6< 91 14*(,9.4+5 | 1X
FV=1+2,% - 54) 051 ,()*+4.,5 71 7.:0<.,5 7]05 ,()*+ 15 7.*134C 0+*+541 3.5/ <+991<=
1<<154.1991-154 15 *+531= 54 (*)<154) 31 (*,8*+1= +213 71< *14*+5<-.<<.5< 15
4+9.1= 15 0.<<1 14 15 198./01C

+ *¥14*4+5<- <<, 5 T12%+.4 <1*2.% 71 B+<1 (,0* 91 9% +*15& 14 9+ *14*+5<-.<<.5
4)9)2.<)1C



+:%)/0154+4.5 + +441.54 E J 7+5<91< 8*+5719091<=F J 7+5<91< 2.991< - N1551<=14
H J7+5<91< (14.41< 2.991<C 19+ <.85.:..1 /81A915 =4,0< (*,8*+--1< 71 3.5)-+

3,5:,570< 15 *+531=3190. /0. + 91 (90< +44.*K{134+410*< + )4) % +*-15&= 7*+.5+54 15
7.*134 154*1 F 14 E  <(134+410*< <0((9)-154+.&k <,.4 05 7,0B91-154 71 9+ A+081
*,(,:<)119 ()*+ ,-./01 (,0* 31 <(134+391C

O*+ ,-/01 152.<+81 71 *15,02191* 31 4N(1 7],( )*+4.,5 /0. + (1*-.< 71 *15: *31*
<,5*+N,551-154 14 9+ (;*4)1 .541*5+4.,5+91 71 31447034.,5C

1441 ,()*+4.5 + B)5)..3.) 15 ,04*1 7051 B1991 3)21*40*1 -)7.+4./01= 15 *+531
3,--1 19 )4*+581*C



%+ ,-JO1 9+531 051 3,99134..5 71 71<,02  *+81< (?+*1< /0. ,54 )4) 7,55)<=
<+991 +2+*4= 71(0.< 7)31-B*1 C 9 <+8.4 7 @5021991 2,.1 (,0* :+.*1 *+N,551* 91

*)(1*4,*1 14 9 .7154.4) 70 4?)D4*1C
O0*+ ,-/01 <+<<,3.11 *+ 0<.3+ (,0%)7.41* 31*4+.5< 71 31<,02*+81<C
1 (*1-.1* 4.4*1 71 9+ 3,99134.5= Q(*)<154) 15 7)31-B*1 F 19 ()*+

-J01R=<*415521-B*1 C
1 =)7.4)IE 1@1-(9+.*1<=<1*+7.:0<) (+ * +* 5.+ 057.C

1 1<4 71<45) | c4*1 21570 15
*+531 14 | 9 1@(;*4C 9 (*,(,<1 05 <,0<
4.4*+81 71 9 L02*1 15 S 9+5801<C

)G)8 6751)+ 7137C2+ )<31) -)/G
3);(<464C5)4G S 1@1-(9+.*1<
14 90*+N S 1@1-(9+.*1<C
/76532 7/-54 G
7,9BN 7.8.4+9 <41*1, |
15G 4/16) /A65G

21570 "™ f 14 90 *+N " f

*37+.52,00-1 71 9+ 3,99134.,5G
L02*1 1-B9)-+4./01 70 *)(1*4,*1 71
9 (*+ ,-/01 Q(*)<154)1 15 A0.5 R
14&  Q(Y<154)1157)31-B*1 R



2046/354<

-) 6K7;350532 7135+359/) 71 1);)33)+ 14 1)+

A ?
? E
(71C)+ E =EJ
((71C)+ +75+4< E F =EJ
;(71C)+ 7135+359/)+ F EH FSS =J
& &# =E
+/A0)<354< E E F =
1);)33)+ 7<<)G)+ H' F'S "=EJ
1);)33)+ A566)33)15) "E 'F =EJ
1);)33)+ ;4 14= 34/1<2)= 82;2<73 S EE=J
;;?B = >
& =?E
871C) 7135+359/) " HE ="J
.
713 -) 67 +/A0)<354< ;(71C)+ 7135+359/)+ 'J "FJ "=FJ
713 -) 67 +/A0)<354< 34376 ;(71C)+ HJ HEJ E=SJ
37/G -) ;4/0)13/1) HFJ EJ S=EJ




):)33)+ 4 14-V 34376 | 34376 e
A566)33)15) 82:2<73 | 7 413+ |1)y++4/1)+ | (71C)+ _
ADI2* 1 DaA1/3+ WK WX | 5<-/+315) 7135+359/)+7135+359/)Jrl)“l“z“l/)lJ;)Jr
| WX WX WX
75+4<
# &2 42 2E
> => B > > B> >
# ’
75+4<
? ? # & i &E
> : C > > > > >
2, 2
75+4<
? # ? ? &2 &E




I $!

:5 /01 9 ()*+ ,-JO1 *14* 021 <+ (9+31 71 8*+57 1 .5<4.404.,5 (+*.<.1551 14 <,.4 15
-1<0*1 71 -151* | B.15 <+ -.<<.,5= 05 (*,Al4 71 *)32+4.5 89,B+91 + )4) .5.4.)= <,0<
9 .-(09<.,5 71 <,5 7.%13410*= )*K-1 1<3?+-(< 14 s0< 9+ -+M4*.<1 7L02*1 7 9+.5
2+%91< 1** 4= (0.< 71 .1**1 54,51 +4.1*= 71(0.< -+*< = 4,0< 710@ *3?.41341<
15 ?1: 71< ,50-154< .<4,*/01<C

G

| 9+ *1<4.404.,5 71< <()3...3.4)< 70 4?)D4*1 94 B651 +213 <1< 3.54*1< 14 <1< 71<<,0<
19 +-)9.,*+4.,5 70 3,5:,*4 70 (0B9.3

19 +-)9.*+4.,5 71 9 +3,0<4./01 71 9+ <+991

| 9+ ¥1<4.404.,5 71 31*4+.51< 71< /0+9.4)< 8A0-H)DA*1 15 *1<4+0*+54 9)7.:.31

| 9+ -.<1 15 3,5:,*-.4) ¥)891-154+.*1

191 7)219,((1-154 71< :,534.,55+9.4)< 70 4?)D4*1

|9 +-)9.,*+4.,5 71< 3,57.4.,5< 71 4*+2+.9 71< (B519< 413?5./01< 14 +7-.5.<4*+4.:<C

(*6< 9)4071 *)+9.<)1 (+* 91 1*2.31 +4.,5+9 71&+2+0@=9 4+4 *14.154 91 <3)5+*,, 91
(90< +7+(4) 15 (*,8*+--+54 31< 4*+2+0@ <0* 051 ()71 71 3.5/ +55)1< Q EE ESR=+0
-,-154 71 9+ :1*-140*1 1<4.2+91C

1< 4*+2+0@ 7 +-)9.,*+4.,5 <,54 ¥)+9.<)< 15 (*):.884.,5 71 31 (9+5 71 *)5,2+4.,5
89,B+91C

G
| (,<17 05 (9+53?21* 3,0(1 :10 154*1 9+ <+991 ¥A18(+31< 71< )4+81< <0O()*.10*<
| +7+(4+4.,5 71 9+ :,<<1 7 *3?21<4*1 +0 *)(1*4,71 9 ()*+ ,-./01
| 4%+.41-154 71 9 +3,0<4./01 71 9+ <+991 +(*6<)(71 9+ 9154.991= - <1 15 (9+31 7 05
90<4*1 (,0* 3,**.81* 91< 7):,*-+4.,5< 71 <,5< 14)34.,5 7 051 3,5/01 (,0* 9+ <3651
Q<+9,5 3,531*4R +1.5 7 )2.41* 9+ 7.<(1*<.,5 7k<745< 9+ 3+81 71 <3651 14 :+2,*.<1* 9+
7.<(1%<.,5 71< <,5< 21*< 9+ <+991
| *1<4.404.,5 71< 9,81< +0@ +*4.<41< +0 "6-1 WMBR21+0@ 3K4) +*.2+0@= 04.9.<)1<
A0</01 91 3,--1 BO*1+0@
| ,021*40*1 7 05 1<(+31 B,04./01 ! B.991441*.1{9+397.10
| 1@41*5+9.<+4.,5 71< BO*1+0@ 71 9 +7-.5.<4*#4@5-14) 70 ?)D4*1
| %)5,2+4.,5 70 (14.4 4?)D4*1 +0 H6-1 )4+81C

| F G

| *1-.<1 15 )4+4 71< 510 71 -+*3?21 71< 1<3+9.1°2+%4 14 +*2+0@

| *1-.<1 15 A10 14 +7A,534.,5 71 5,021+0@ :1*-1 f1< 154*1 1<(+31< (0B9.3< 14 1<(+31<
+7-.5.<4*+4.:< 14 413?5./01<

| -.<11(9+4 70 (9+53?21* 71 9+ <+991 71 7+5<1=. R (+%4.1991< 71< (+*/014<

| %)5,2+4.,5 14 *)+-)5+81-154 71< :N1*< 14 21<4.#1< 71< 41375.3.15<= 70 :;,N1* 71<
-0<.3.15< 14 70 ;,N1* 71< +*4.<41<



| -.<1+0@ 5,*-1< 71 <)30*.4) 71 9+ <+991 .014

| 3%)+4.,5 7 05 +419.1* 71 41.540*1

| ¥)+9.<+4.,5 71 4*+((1< 7+5< 91< 3.54*1<

| <0((*1<<.,5 7 05 *+58 +0 6-1 B+93,5

| +3/0.<.4.,5 71 5,021991< 37+.<1< (,0* 91< 9,81 (*.<1 (+*4.1991 71< 4+(.<<1*.1< 71 9+

<+991

| (1.540%1 71< 1<(+31< (0B9.3< 14 (*.2)<C

)5,2+4.,5 71< 9,81< 70 3K4) +2+*4 <0*'5.21+0@

,5:,%-.4) 3,0(1:10 70 9,3+9 413?5./01 <,0< (9+41+0 14 4*+.41-154 +3,0<4./01
,<171 -+.5< 3,0*+541< <)30*.<+54 9 +336< 71<\ (B9.3< .014

1<4+0*+4.,5 71<-,<+b/01< 70 <,9 70 ,N1* 71<-08.15<

1.540*1 71< 3,0*<.21< 14 1<3+9.1*< (0B9.3< fIU B¥ <+991

?+581-154 71< <1**0*1< 14 (<1 71 (*,:.9< 71 B+4454 <0* 91< E" (,*41< 71
<,*4.1 70 (0B9.3 <0* *01< +2+*4= +*2+0@ 14 (9497.10

*9,68+4.,5 71< 4*+((1< 7+5< 3+.991B,4.< 70 & @9 (+<<+81 71 3DB91< 71<
15*,0910*<

-)5+81-154 3,0*+54< : *4<= 3,0*+54< :+.B91< <+9914

*)+4.,5 71 8+.51< 413?75./01< 21*4.3+91< 3,0*+544<!:+.B91< 7+5< 91< 9,81<
7]+2+54 <3651

<115 (9+317 051 .541*(?,5.1 <+5<:.9

<115 (9+31 7 05)39+.*+81 71 <)30*.4) <0* 914B+0

@415<.,5 70 *)<1+0 <13410* 07.,!.7), 7+5< 3,09,* 9,.54+.5

*+.41-154 +3,0<4./01 71< (9+:,57< 71< 3,0*<.21< 700 71 3?+0<<)1 +2+*4 14
+*2+0@

(+3.:.3+4.,5 71< 710@ 21**.6*1< 14 71 9+ 4*+((1 7Mk15:0-+81 +0 71<<0< 70
(9+41+0C

*+2+0@ 41375./01< Q2154.9+4.,5!7)<15:0-+81 749914 71< 9,3+0@ 413?5./01<R

*

1<4*0340*+4.,5 14 -.<1 15 2+910* 70 3154*+9 3,x496-

1<4+0*+4.,5 71< 7)3,*< 71 9+ <+991=*15:*31-154 &*+7.5< 14 8+*71 3,*(<
)(9+31-154 71 9 154%)1 71< +*4.<41<1+7-.5.<4*+43K4) +*.2+0@

+4.,5+9.<+4,,5 71 9 +**.6*1 <3651 Q8+.51< 41325./0541 7)3,*< 14 <4,3V+81R
<1+0@ 5,*-1<+3301.9 71< ?+57.3+()<

-)9.,*+4.,5 71< 3.*309+4.,5< Q3*)+4.,5 7 +<315<dR*

*)+4.,5 71 <+5.4+.*1<

18*,0(1-154 71 9 15<1-B91 71< 1<(+31< +7-.5.<4*+4.1 9 .54)*.10* 70 4?)D4*1
*+2+0@ +*3?.41340*+0@ 71 *)5,2+4.5 71 9 15<1/B911<(+31< (0B9.3<= 71

1<4+40*+4.,5 71< 3?7+*(1541< 14 71 3,021*40*1=A-8t+4.,5 71< :+,+71< +*.2+0@ 14

+2+%4C



<4 )8+91-154 152.<+8)1= +213 9 +.71 7 05 -)3654*184+0*+4.,5 70 *+57 N1*= 71<
710@ *4,571< +2+*4 14 +*2+0@= +.5<. /01 71+BL N1*= 3)96B*1< (,0% 910*<
(1.540%1< 7)3,*+4.21< ¥)+9.<)1< (+* G

9B1*4 +.85+5= (9+:,57 14 (+551+0 :+31 :15c4*TQ *+57 N1*

15%. 1*21@= *+57 ,N1*

<1(? 9+53= 2+54 N1*

7,0+*7 ,07,001= (9+:,57 14 (+551+0@ 71 9+ *,4,31 +2+*4

+(?+[9 ,99.5= (9+:,57 14 (+551+0@ 71 9+ *4,573*.2+0@C

+ *1<4+0*+4.5 3,531*51%+ )8+91-154 91< (+*/014KE= (*41<= 91< (*41< :15c4*1<= 91<
)B*+<1-154< 14 B+< 9+-B*.<= 91< 90<4*1< 14801 <809



% Y

G31753+ -$7135;6)+ -) 1)++)

9+ 4*,0(1 <1 <O*(+<<1 7+5< 31441 21*<.,5 /0. 7+41 (+* <1< ,(4.,5< <4N9.<4./01<=419 91 *13,0*< |
9 +53.15 *+5;+.< /0. <,551 91< :.5+91<C *.3 #28)*+4.,5= A+52.1* F

9+ *13,5<4.404.,5 B*.99+541 71 .53154 0-1<4*18+-5 +O+* :+.4 37+4,N1* 9 L02*1 71 099N
7 051 (*)3.10<1 B1+04)C 2.9.(1 1540*5.= + *@= 'A+52.1* F

*14,0* 15 :*31 70 B+*,/01= <+991 +2+*4C .3716¢04N= 1< 3?,<= ' A+52.1* FO051
-+85.:./01 *13,5<4.404.,5 QYR /0. 7,.4 c4*1 205 10.< +9.7.*1= 1 .8+*= "A+52.1* F

O*+ ,-JO1 )4+.4 (91.5 A0</0+0@ 90<4*1< (,0* 7)3,02*.* C 9.2.1*
199+-N= 1 +*<.15= "A+52.1* F

1<4 05 099N 4*6< *+57 6391 /0. + 4*.-(?) ?1* <,* 19 ()*+ ,-/J01C +*1 071 ,0@=
1 571= 'A+52.1* F

15 7)31-B*1= <0* 9+ <3651 71 9 ()*+ ,-/0l= | + *.<= +213 (,0% <1091 *+99,581 05
3,0%4 (*,9,801 7.4 (+* .5+ ?+X= 1B*+? \+*51*+ 2+.49.2¥) 051 -.<1 15 <3651 ?20-B91
14 ?+*7.1= 9+ (90< B1991 /0 ,5 3,55+.<<1 71 314802 15+07 +3?+*4= 1 ,571="
AO.5

051 ?10*1 )B9,0.<<+541 5,021991 *)0<<.41 73*3 (/01 QYR 905 71< -1.9910%<
<(134+391< 71 9+ <+.<,5 QYR 05 <(134+391 <)7054459.81531C .53154 *19= 9+<<.3+=
2% 1%

% /019 B1+0 <(134+391$ & <1@39+-14 .5 7 4B/01IC 8*+57 <(134+391$& <1 7.4 .5
15<0.41C *+5;,.< +:,5= 1 571719+ 0<./01=Ab2.1* F

1 (+<<+81 | +*<= 3?7,<.<<10 15 (*.*.4) 9 ()*+ ,-/01l= *1(15<) (+* )*K-1
1<37+-(< /0. + *17,55) | 9 +*4 9N*/01 051 :1*210*/0,5 3*N+.4 9+-5)1 (+* 91
<5,B.<-1C +*1 *+531=521-B*1 F

: 021 +213 )39+4 9+ <+.<,5 71 9 ()*+ ,-/01 QYR2,.91 051 *)0<<.41
4,4+91 QYR 3,154 051 ?10*1 7.@ 71 <(134+391100142.1.99.* 4,04 31 /01 9,5 + 20 |
+* < 71(0.< 9+ *154%)1 m .3,91 0+094=91 C3F)31-B*1 F

-+85.:./01 ,021*40*1 71 <+.<,5 (,0* 9+ +991 +2#4C .3?19 +*04N= 1< 3?<= F
7)31-B*1 F



31 <(134+391 7051 *+*1 )9)8+531 ,02*1 9+ <+.<]597()*+ ,-./01C ?.1**N
.991*41+0= .8+*<3,(1="7)31-B*1 F

<,5,*.4)< <,-(4010<1< 7+5< 9+ :,<<1= 8*D31= ?0-D4 )-,4.,5 <0* <3651= 314
. 1<405-0* B,5?10*C +*9.51 91@+571*=\1B4?1+G3S 7)31-B*1 F

5 +0%+.4 152.1 71 <1 (9+5/01* 71**.6*1 05 <.680%9 )3,041* 710@ :,.< 71 <0.41 $ QYR 91
(0B9.3 *)<1*21 05 4*.-(?1 -)*.4) +0@ .541*(*641<(D< (,0210 2,0< 3+3?1* 7+5< 91<
4,91441< (,0* +<<.<41* | 9+ <13,571 *1(*)<154#4:B< 51 2,0< :+.41< (+< (*157*1 $
2.9.(1 1*9.5= ,531*4,514C3,-="7)31-B*1 F

05 <(134+391 05./01 14 (+<<.,55+54= 91 (*1-.1'9FI<+.<,5 (+*.<.1551= 31 /0 ,5 +((1991
7+5< 9+ 945801 71 0*3199= 05 -0<4C ?*.<4,(?D70,*0- (1*+C3,- = " 7)31-B*1
F

9N+ +2+.4 9+ :,091 71< 8*+57< A,0*< (,0* 9611171 31 ; 4*6< +441570C
.14 .5? 80N15= 0<1B+*,/01C:*= "7)31-B*1 F

91< -,4< -+5/0154 (+*:,.< (,0* *157*1 3,-(41 71 9+ B1+04) QYR 71 9,5801< 9+*-1< | 9+

5= 7+5< 91< *+58< 71< <(134+410*<= /0+57 .J43.§4 14 /01 9,5 2,07*+.4 /01 9+
90-.6*1 51 <1 *+990-1 (+<C ?+54+9 +0+0@= 23681 ()*+= 7)31-B*1 F

#

*1(*.<1 +4415701 71 9051 71 31< 1@/0.<1< *+7B#H,0< *+<<+<.1 9 ()*+ ,-./01
71(0.< 9.521<4.40*1 71 )*,-1 1<3?+-(<C ?.1**N .991*.41+0= .8+*<3,(1=E 7)31-B*1
F

31:04 9)2)51-154 71 9+ <+.<5 71*5.6*1 & = ,()*+3,-./01 7 )*,97 :(+.<+.4 <5
*14,0* <+991 +2+*4 > 9 5+2+.4 (90< )4) AODAKEE"S$ )*-1 1<3?+-(< 1<4 B.15
5<(.*) 71 91 *1(*157*1 31441 <+.<,5C ?.9.((1 75 + 144*1 70 -0<.3.15= ES 7)31-B*1

F

"$ =9L02*1 9+ (90< .-(*,B+B91 /01 *c2+.4 71 7.*.899.+- ?*.<4.1C 19+ + )4)
(,<<.B91 +213 )*,-1 1<3?+-(< 14 +3?+ +V1.1:C +2.1* 91@+57*1= 01<4 *+531=
E A+52.1*

71(0.< 9 .5<4+99+4.5 71 )*-1 1<3?+-(<19 ()* + /0115 =91 A1051 (0B9.3
+.4 2%+.-154 (+*4.1 71< -0*< QYR (*8*+--+4.5 | § ?7+0<<1 G (+< -,.5< 71 ?0.4
(*,(,<.4.,5< 31441 +55)1 $ +b+ ,041.9914= +*K-1<=,34152C F

/019 *)8+9 71 *14*,021* 314 ,()*+ 3,-./01 *)(,57+5 4 1@+341-154 +0@ 3+*+34)*.<4./01<
70 815*1C ?*.<4.+51 O19= 1201 ()*1441=-+.



J0+57 5 <1 71-+571 <. 319+ 2+04 9+ (1.51 71 *1<8011* 71< L02*1< 7,54 9+ 89,.*1 1<4
1<4,-()1= .9 5N + /0 051 B,551 *)(,5<1 G *)0<<.AC:04 91 3+< 314 ?.21* <+991 +2+*4= 14
+0 7191 7131 /0 ,5 1<()*+.4C *+*7 57)= 1 57 1=S+2*9

5 (104 *157*1 ?,-+81 | 9+ -+.<,5 71 9+ (9+31 ,. 197.10= /0. *17,551 2.1 | <,5
*)(1*4,*1 *.8.519 14 50< (1*-14 71 -.10@ -1<0*1*91< /0+9.4)<= 91< 1@.81531< 14 91<
30*.,<.4)<= +0<<.= 71 31 (+5 71 30940*1 IN'UGB4L-(< 1::+3) | 9+ <3651 QCCR 9+ <,.%)1
(+<<)1 +213 31 37+*-10* 71 )4+.4 +8%)+B91= 15 4)-,.851 91 4*.-(?1 /0.
<+90+.4= 91 ' )2% 1% 40 <,.*= O+ 71*5.6*1 *1 (Al 71 9+ (*,7034.,5C ?+54+9 +O+0@=

2454 3651 ()*+=':)2*.1*

J*K-1 1<3?+-(<= 91 8*57 -+54,0 71 9 ()*+ ,-. /01 71(0.< 710@ <+.<,5<=
(,0*<0.4 .59+<<+B91-154 <,5 1@(9,*+4.,5 70 *)(1*4,/0. :.4 9+ 89,*1 71 9+ <+991 +2+*4C
4)(?+51 +bV= +910*< 3401991<= A+52.1*

3 1<4 B.15 9 1<(*.4 71 4*,0(1 /0. 4*+21*<1 14394B 31441 <,.¥)1 9N*./01 14 3,-./01 71
2404 2,9C *.3 +?+5= B)*+4.,5= F :)2*.1*

91< ,()*+< 71 15A+-.5 *.4415 <,54 *+*1< <0* HK3651< 9N*./01< :*+5;+.<1<C <<10 (,0*
/0,5 91< <.85+91 <0*4,04 9,*</0 .9 < +8.4 7 QB13¢&.,5 71 /0+9.4) (*,(,<)1 (+* 9 ()*+
-/01 71 +*< QYR 051 *)0<<.41 4,4+91 7+5< 051<1 15 <3651 7*K91 14 .52154.21C
+4* 3V 71 +*+= + +*<1.99+.<1=ES -+*<

QYR 31441 <(9157.71 (*,7034.,5 QYR 1<4 *1-+*/D§EB110*< 4.4*1< QYR 05 (14.4 B.A,0C
551 +<4+V.+5= +*+551= E :)2*.1*

051 ()4.99+541 (*,7034.,5 QYR | 9+/01991 9+74¥ A 0-10*< ,::*1 05 B1+0 3,54*1(,.54C
9+.5 37+*7= 0< +*.<= ":)2%1*

5 <*4 *+7.10@ 71 31 <(134+391 9)81* 14 .5</0X545 15 (+< 7,041*= 3,**1<(,57
(+*:+.41-154 | 31 /01 *.4415 154157+.4 (+* % /I &C *+5;,.< 19)4*+0= 1
8+*, +8+0.51= F:)2*.1*

/01991 *)0<<.41 QYR <,*)1 -+8./01 ,> 4,04 1<4582= ()4./01C 9+*1 ?2+0+9= 1
8+, +8+0.51= -+*<

05 ,()*+ 3,-./01 <+2,0*10@ 14 <0B21*<.: QYR )/@B91= +-B.80b4) <,54 -1*21.9910<1-154
*1<(134)<C .991< +3+<<+*= )9)*+-+= EF -+*<

A)9. <(134+391C 1+5 ?+*91< ,:1)9)= .+(+<,5=2

05 <(134+391 <03309154 QYR 4*0309154 QYRI9F Bt5A AL 4*,.< *)0<<.41<C +2.1* 71
+0991= 9+<<.3+=+2*.9



9+ *)+9.<+4.5 71 9 ()*+ 71 ,015 15 3,(*7034.,5 +213 9 ()*+ ,-/01 1<4
9+*81-154 | 9+ ?+0410* 71< +-B.4.5< 70 3,-(,<.41@ +4?1*51 3?7,991*= ()*+
+8+0.51= +2*.9

9 ()*+ ,-./01 (,0*<0.4 89,*.10<1-154 <+ -<<,5 +213 31 -,*31+0 /0 1<4 91
C .1**1 15) 1*5+= 3651< +8+0.51=A0.5

91 B,5710*= (*1</01 (+*:+.4= 7051 4*6< B199M <,54 .9 :+04 :)9.3.41* 9 ()*+
,-/01C ?.9.((1 ,0B1*4= 9+<<./01.5:,C3,-="-+.

70 <13,57 718*) 3094.2) +213 051 2.*40,<.4) <.B¥* 14=1 9 +**.2)1= 051 B,551 4*+53?1
71 *8,9+71 3,--1 +2+*4 515 + (+< 3,550 71(0.< 4*( 9,5841-(<C --+5019 O(ON=
A(+<,5=+2*9

1<4 71 *14,0*19 (*+ ,-/01C 9,*< 3,0* 10N $ )*)-.1 ,0<<1+0=
0+<<.3+=+2*.9

,0¥10= 9+ )30 *1-B,0*<1C 2+5 C 91@+57*1= D219 B<1*2+410*= " +2*.9
)9.3.10<1 :+54+.<.1 9N*./01 ,0B9.)1C 57*) 0B%01 ,.54= "+2*.9

' = 051 A0<41 *)<0**134.,5C .3,9+< 7 <4.1551 K*21 .8+*= +2*.9

05 71< <(134+391< 91< (90< 7*K9l< 71 9+ <+<B56FC +3/01< ,0319.5=
,531*439+<<.3C3,-= +2*.9

9N + 71< <(134+391< *)A,0.<<+54< /0. (+*2.1654.58 9+ <N5476<1 154*1 4,0< 91< +*4<
<+5< 1550N1* 051 <13,571 91 <(134+410* QYR B&lm+@*10 3,-(*.<= ,5 (+<<1 051
¥ 7+B91 <,.*)1 $ )9651 W04451*= (134+391<C@11C:*! +*.<3,(1C:*= +2*9

+0 41*-1 7 051 <,.*)1 *)0<<.1= 5 *1(+*4 3,54154 k+4.<:+.4= <,581+54 /0 15:.5 05 ,()*+
3,-./01 *14*,021 <+ 2*+.1 (9+31 19 ()*+ ,-./01C 9+.5 418715<= 1<-0<.3+C3,-=
+2*.9

05 <,0*.*1 15 31< 41-(< 71 3*.<1=,591 4*,021 ()% ,-./01 +213 051 7)<,(.9+541
(*,7034.570 ' QYR 7*K91 14 7)9.3.10@= 31 1<4 1@1-(9+.*1 71 9+
*)?+B.9.4+4.5 71< L02*1< *+5;+.<1< 70 6-1 <.6&8L /01 -651 )*K-1 1<3?+-(<C

154?,0<.+<-1 70 (0B9.3 1 9 .<<01 71 9+ (*1-.6*T=4 /0.9 + 20 A0<41C .3,91 0+094= 91

C*= F+2*9



#

91 4*.,-(?1 71 +-1+0 <0* 91< <3651< ?1@+8,5+91<,8*<0.4 19 ()*+ ,-./01 +213
' C 1+5 .1**1 ,B1*4= )703+4.,5-0<.3+91=-+.

9+ 4*6< B1991 (*,7034.,5'71 +**2119 ()*+ ,-./01C 1+5 0.99+0-1 1B*05=
+ 1% +<<]= -+*<

H +5< +(*6< <+ 3%)+4.,5 9+ (+*4.4.,5 71 +-1+045912)1 14 <(.*.401991 5 + (+< (*.< 051
*71C +09.51 ,--1914= ,54 71 01="-+*<

,5 *14*,021 9)/0.(1 /0. +2+.4 <.85) 9+ -+8.<4*+94,7034.,5 71 " (,O* 4*,.<
*1(*)<154+4.,5< 1@31(4.,551991< QYR 91 4+571- Q1*Q-.<1 15 <3651R 14 ?*.<4,(?1
,0<<14 Q7.*134.5 -0<.3+91R *)0<<.4 91 (+*. 7T*¥169,)*+ 71 +-1+0 4,041 <+
<(915710* QYR ,5 <1 (*)3.(.41 (,0* 89+51* 71< MA*bx (9+31<= 14 ,5 5,0B9.1 (+< 91<
<(134+391<=<,02154 71 2*+.< B.A,0@= +04,0*¥13,409)< n 0-10*< C .991< +3+<<+*=
)9)*+-+= EF -+*<

1<4 051 L02*1 -+8./01C .3719 +*,04N= 1< 3?,<=-+*<

91 3?71:7,102*1 71 +-1+0 (*,-14 71 :+.*1 3,0** 4,04 +*.< QYR 91 (90< 70* <1*+ 71
4% 021* 71< (9+31<C ?.1**N .991*41+0= .8+}<3$ -+*<

9+ (*,7034.,5 3*))1 +0 4?)D4*1 71 *,445.58?,9- (*-14 7 c4*1 051 B1991 *)+9.<+4.,5C
@(*1l<<= -+*<

9051 71< (+*4.309+*.4)< 71 9 ()*+ ,-./01 71(0.< /01 )*K-1 1<3?+-(< 15 +<<0*1
9+ 7.*134.,5 4.154 7+5< 91< *)<,5+531< 71< <140¥9-/0. +33,-(+85154 37+3051 71
<1< (*,7034.5<C 1991< /0. *5154 14 3,--154154 31 <,54 (+*4.309.6*1-154
*3?1<C 5 3,631*4< 15 <,.*)1 14 1 9?10*1 70 7pA¥9 15 3,99,/01= 15 91340*1 14 15
1@(,<.4.,5=1991< :,*-154 05 3+7*1 4+.99) +0@1<1%0%9 )2)51-154C +*,9.51 91@+571*=
\1B4?1+C3,-= S -+*<

31" + 91 -)*.41 71 3,5<4.401* 9 051 71< -1.9910*<<.¥8 <3651 71 4*+8)7.1
9N*./01 <0* 9+ <3651 (+*.<.1551 70 -,-154C ?+*91489.,= 0<1B+*/01C:*= -+*<

(*,7034.,5 +4415701C 57*) 0B10:= 1 ,.54=E -¥<

051 +*-15 4*6< <1@N 15:9+--1 9 ()*+ ,-/01C .3 ,91 0+094= *+531 ,.*= ES A0.5

<0B9.-114 1::*54)1 +*-15C .?+5+ +B*.19= -. 5041<=ES A0.5



54,5+33.= :#+B0910<1 +*-15 QYR 051 <,*41 71 /Q$641531 70 3?7+54 :*+5;+.<C ?*.<4.+5
1*9.5= 1 .8+*,=EF A0.5

9 ()*+ ,-J01 41* 51 <+ <+.<,5 15 B1+04) +213 0 51 (*,7034.,5 )B9,0.<<+541 70
N40B1 70 *)(1*4,*1 *+5:+.<C .3719 +*04N= 32,<= EF A0.5

.9 51 *1<41 5+40*1991-154 (90< 05 <4*+(,54.D+.*)1 70 S A0.5 1<4 *1<4*+5<-.<1 15
7.*134 7+5< S <+991< 71 3.5)-+C 2+5 C 91@+5%7,0219 B<1*2+410*= EE A0.5

15 A0.5= +*-15 51 B*d91 (+< <1091-154 91< (94+632D91 3*621 +0<<. 9)3*+5C ?.1**N
.991*.41+0= .8+*<3,(1=E A0.5

(*,7034.,5 3?,3 (,0* +*-15C +7+-1 .8+*=E AO0. 5 E

44154.5= +*-15 1<4 (+*4,04 19 ()*+ ,-/01=9 +-+.<5/0.9 + 201 5+M4*1C ?,-+<
1+5= 991=E"A0.5

+2+*4 1<4 051 B1991 -+.<,5= 05./01 15 *+531 (€5 -)9+581 7 ,()*+< *+*1<= 71
3,531*4< 14 +04*1< n*0-10*< C 15,M4 0410*4*1=63T=E" A0.5

.5 71 <+.<,5 <0* 91< 3?+(1+0@ 71 *,01 1 9 ()*+,-/01C 4)(?+51 +bV= +910*<
3401991<= EF A0.5

0*10 +0 3.5)-+= *13+9)< 71 9 ()*+ ,-/01= (+*. <15< 14 (*2.53.40@ $ +<
+44154.,5= 9] +0<<.= 5 * </01 7 +::.3?1* 3,-(944C 0B10:= 1 ,.54= EF A0.5

QYR /0+54 +0 3,0(91 (*.53.(+9=.9-14 | (*,:.8D«4./01 .54.-.<41 71 9+ <+991 +2+*4 (,0*
3?7+541* 4,04 15 .54199.81531 14 15 :.51<<1@399%«*= )9)*+-+= 'A0.5

9+ <+991 +2+*4 1<4 9 05 71< 9.10@ 91< (9B4BTH*+* < QYR )*K-1 1<3?+-(< 1<4
9 210*10@ (+4*5 7 051 8*+571 .5<4.404.,5 14 BABF051 (+*4.1 71 5,4*1 (+4*.-.51C
9+*1 ?+0+9= 1 .8+* +8+0.51= A0.5

9+ (*,7034.,5 <1*+ *14*+5<-.<1 15 7.*134 7+5< @5A/0+54+.51 71 <+991< 71 3.5)-+ QYR
051 (*1-.6*1 (,0* 9 ()*+ ,-/01= 7+5< 91 <.99+81 70 14C --+5019 O(ON= .+(+<,5=
A0.5

31 71*5.1* <(134+391 71 9+ <+.<,5719 ()*+ ,-./01 <1-B91 +2,.* 7 1-B9)1 +44.*) 4,0<
91< <0::*+81<C 4 .9 1<4 7)Al -+9?10*10<1-154*1990k()*1* 4*,021* 71< (9+31< (,0*
9051 71< <1(4 *1(*)<154+4.,5<C 1+5 OV+<= +H4#&1=A0.5

314 )2)51-154 1<4 +33,-(+85) 7 +04*1< <(134+391¥RO<0(1*B1 (*,8*+-1$ .3?19
,0<<,4= +*< +(.4+91=A0.5

051 +*-157 +54?,9,8.1 QYR 051 +*-15 <0B9.-1 7k15<0+9.4) 14 7 .54199.81531 QYR 051
,2+4.5+0-.9.10 71 A1l4< 71 * <1< *,081<C .3,91094=91 C:*=E A0.5

SE



:5 71 <+.<,5 4% ~(?+541 (,0* 9 ()*+ ,-/01= +2 13 31441 (*,8*+--+4.5 70 3?1:
71L02*1 71 .014 7+5< 9)3*5 -c-1 71 <+ 3%)+4.,5=1*2. (+* 9+ 3*6-1 71< .541%(*641<=
7,55) 180.3714< :1%)<C ?+54+9 +0+0@= 2+54631 ()*+= SA0.5

+*-15 :+.4 05 A)9. *14,0* | 9+ -+.<,5 G 91< <I{#(*)<154+4.,5< <,54 (*.<1< 7 +<<+04 U
(90< 051 (9+31C .3,91 0+094= 94+-0<.3+C3,8.ES A

31<4714,041)2.71531 9)2)51-154 71 31441 15%#.<,5 (+*.<.1551C *+5;,.< 1<010*=
,531*439+<<.3C3,-= ES A0.5
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